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1. Statements about Terrestrial laser 

scanning are given below : 

1. It is a measurement technique 

that can acquire millimeter-level 

of detail from the surrounding 

area. 

2. It allows rapid, automatic and 

periodical estimates of many 

important forest inventory 

attributes. 

3. It  measures the surrounding 

three-dimensional (3D) space. 

4. It is a satellite-based technique  

that ensures precise standard 

surveys. 

Which of the above given statements 

are true ? 

(a) 1, 2 and 3 

(b) 1, 3 and 4 

(c) 2, 3 and 4 

(d) 1, 2 and 4 

2. Read the following and choose the 

correct statement(s) : 

1. The Pacific nation of Palau 

became the first country to ban 

‘‘Coral reef-toxic’’ sunscreens. 

2. Chemicals like oxybenzone and 

octinoxate that are present in 

most of the sunscreens, absorb 

UV light and are thus harmful to 

the Corals. 

Choose the correct option : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

1. G{whrs b/iao ;e?fBzr pko/ fBwB eEB fdZs/ 
rJ/ jB L 

1. fJj fJe wkgdzv dh seBhe j? i' 
nk;gk; d/ y/so dk fwbhwhNo sZe 
dk ft;sko gqkgs eo ;edh j? .  

2. fJj eJh wjZstg{oB tD ;koBh d/ 
r[DK dk s/i, ;t?ukfbs ns/ ;w/A 
nB[;koh nB[wkB brkT[Adh j? . 

3. fJj nk;gk; fszB gZyh (3vh) EK B{z 
fwDdh j? . 

4. fJj T[grqfj s/ nkXkfos seBhe j? 
i' T[fus ;N?vov ;ot/nK B{z :ehBh 
pDkT[Adh j? . 

T[es ftu'A fejVk eEB ;jh j? < 

(a) 1, 2 ns/ 3 

(b) 1, 3 ns/ 4 

(c) 2, 3 ns/ 4 

(d) 1, 2 ns/ 4 

2. fBwB B{z gVQ' ns/ ;jh eEB u[D' L 

1. g?;hfcae ok;aNo gbkT{ gfjbk d/;a 
pfDnk fi; B/ “e'ob ohc bJh 
iafjohbh” ;B;eohBK s/ o'e brkJh 
j? .  

2. pj[shnK ;B;eohBK ftu 
n"e;hp/Bi'B ns/ n"eNhB'nri/N 
tor/ o;kfJD w"i{d j[zd/ jB i' :{HthH 
feoBK B{z nksw;ks eoe/ e'ob bJh 
jkBhekoe pDd/ jB . 

;jh ftebg u[D' L 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A 

(d) Bk 1 ns/ Bk 2 



Paper I ( D – 3 ) 

3. Read the following and choose the 

correct statement(s) : 

Statement I : 

 The Himachal Pradesh State 

Government is to develop India’s 

first Snow Leopard Conservation 

Centre of India. The Centre is to be 

developed by the Himachal 

Pradesh Forest Department and 

the United Nations Development 

Programme (UNDP). 

Statement II : 

 Global Snow Leopard and 

Ecosystem Protection Programme 

(GSLEP) is an inter-governmental 

alliance of all 12 snow leopard 

range countries. 

Choose the correct option : 

(a) Both statements I and II are 

correct 

(b) Statement I is correct 

(c) Statement II is correct 

(d) None of the above 

4. The symbol of Indian ecomark is  

(a) Earthen pitcher 

(b) Straw basket 

(c) Earthen lamp  

(d) Bamboo pot 

5. Which among the following statements 

is/are correct  about  the Palas ? 

1. The Palas were ardent followers 

of Jainism. 

2. The Palas founded the 

Oddantapuri University from 

where the missionaries went to 

Tibet to spread Jainism. 

Select the correct answer using the 

code given below : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

3. fBwB B{z gVQ' ns/ mhe eEB u[D' L 
 eEB I : 

 fjwkub gqd/;a ;oeko Gkos dk 
gfjbk ;B' fbT[gov (Snow 

Leopard) eBiaot/;aB ;?ANo ftef;s 
eo/rh . fJj e/Ado fjwkub gqd/;a d/ 
tD ftGkr ns/ :{BkfJNv B?;aB 
fvt?bgw?AN gq'rokw (:{Hn?BZHvhHghH) 
d[nkok ftef;s ehsk ikt/rk . 

 eEB II : 
 rb'pb ;B' fbT[gov ns/ fJe' 

f;;Nw gq'N?e;aB gq'rokw 
(ihHn?;Hn?bZHJhHghH) ;ko/ 12 ;B' 
fbT[gov (Snow Leopard)  o/Ai d/;aK 
dh nzso^;oekoh ;KM j? . 

;jh ftebg u[D' L 
(a) eEB I ns/ II d't/A ;jh jB 
(b) eEB I ;jh j? 
(c) eEB II ;jh j? 
(d) T[es ftu'A e'Jh th BjhA 

4. Gkosh fJe'wkoe dk gqshe j? L 
(a) fwZNh dk xVk (Earthen pitcher) 
(b) c{; dh N'eoh (Straw basket) 
(c) fwZNh dk dhtk (Earthen lamp) 
(d) pK; dk rwbk (Bamboo pot) 

5. fBwB ftu'A gkbk okfinK pko/ fejV/ eEB 
;jh j?$jB < 
1. gkbk oki/ i?B wZs d/ ;yas nB[:kJh 

;B . 
2. gkbk okfinK B/ T[vzskg[oh 

ft;atftfdnkb: dh ouBk ehsh  
fiE'A fw;aBoh i?B wZs d/ c?bk bJh 
fsZps sZe rJ/ . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 
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6. Which among the following 

statements(s) is/are true about the 

Mughal rule under Akbar ? 

1. Akbar opened the  Ibadat Khana 

to people of all religions; Sufis, 

Shias, Christians, Jains and 

atheists. 

2. Akbar issued the Mahzar-nama  

to take all religious matters in his 

own hands. 

Select the correct answer using the 

code given below : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

7. In the Indian Freedom Struggle, who 

among the following revolutionaries 

carried out their activities from  

abroad ? 

1. Raja Mahendra Pratap 

2. Maulana Barkatullah 

3. Lala Hardayal 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 3 

(d) 1, 2 and 3 

8. Which of the following initiatives 

was/were taken by Sher Shah Suri to 

promote trade and commerce ? 

1. Introduction of gold, silver and 

copper coins of uniform standard. 

2. Restoration of the Grand Trunk 

Road. 

3. Simplified the custom duty 

structure. 

Select the correct answer using the 

code given below : 

(a) Only 1 

(b) Only 2 

(c) Only 1 and 2 

(d) 1, 2 and 3 

6. nepo d/ nXhB w[rb ;ak;B d/ ;w/A pko/ 
fBwB eEBK ftu'A fejVk ;jh j?$jB < 
1. nepo B/ fJpkds ykBk ;ko/ XowK d/ 

b'eK; ;{cah, ;ahnk, Jh;kJh, i?B ns/ 
nDJh;atoh b'eK bJh y'fbnk . 

2. nepo B/ ;ko/ Xkofwe wkwfbnK B{z 
nkgD/ jZE ftu b?D bJh wjiao Bkwk 
ikoh ehsk . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 

7. Gkosh niakdh d/ ;zxo;a ftu fBwB 
eqKshekoK ftu'A fe; B/ ftd/;a s'A nkgDhnK 
rshftXhnK ubkJhnK < 
1. okik wj/Ado gqskg  
2. w"bkBk poesT[bk 
3. bkbk jofdnkb 
fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 ns/ 2 
(b) e/tb 2 ns/ 3 
(c) e/tb 3 
(d) 1, 2 ns/ 3 

8. ;a/o ;akj ;{oh B/ tgko ns/ tDi dh soZeh 
bJh fBwB ftu'A fejV/ :sB nkozG/ ;B < 
1. ;'B/, uKdh ns/ sKp/ d/ fJe' gZXo d/ 

f;ZfenK dh P[o{nks . 
2. ro?Av Noze o'v dh w[Vpjkbh . 
3. e;Nw eo szso dk ;obheoB . 
fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) e/tb 1 ns/ 2 
(d) 1, 2 ns/ 3 
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9. Sangam texts suggest several stages  

of social evolution of Tamil people. In 

this context consider the following 

statements : 

1. The narrative texts show that 

Tamil people of the times were 

primarily pastoral. 

2. No reference to trade and 

economic activities has been 

made in these texts. 

Which of the statements given above 

is/are not correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

10. Which of the following was/were found 

in Mohenjodaro ? 

1. Bronze Image of a dancing girl 

2. Steatite image of a bearded man 

3. Terracotta figurine of Mother 

Goddess 

Select the correct answer using the 

code given below : 

(a) Only 1 

(b) Only 2 

(c) Only 1 and 3 

(d) 1, 2 and 3 

9. ;zrw ouBktK skfwb b'eK d/ ;wkfie 

ftek; dhnK ;?AeV/ nt;EktK ;[MkT[AdhnK 

jB . fJ; gq;zr ftu fBwB eEBK B{z 

ftuko' L 

1. fposKse ouBktK fdykT[dhnK jB 
fe T[BQK ;fwnK d/ skfwb b'e w[Zy 
s"o s/ gP{ gkbe b'e ;B .  

2. fJzBQK ouBktK ftu tgko ns/ 
nkofEe rfsftXhnK dk e'Jh jtkbk 
BjhA fwbdk . 

T[es ftu'A fejVk eEB ;jh BjhA j?$jB < 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A 

(d) Bk 1 ns/ Bk 2 

10. wjzi'dko' ftu fBwB ftu'A eh bZfGnk ;h < 

1. fBqs eodh bVeh dh fgZsb 
(Bronze) dh w{os  

2. dkVh tkb/ nkdwh dh ;NhNkfJN 
(Steatite) w{os  

3. N?oke'Nk (Terracotta) dh wK d/th dh 
w{os  

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 1 

(b) e/tb 2 

(c) e/tb 1 ns/ 3 

(d) 1, 2 ns/ 3 
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11. With reference to the medieval history 

of India, the terms ‘Dahsala’, ‘Batai’ 

and ‘Nasaq’ are related to 

(a) branding of horses with imperial 

marks by Samudragupta 

(b) rituals conducted during 

coronation of a new Gupta king 

(c) land revenue systems during 

Tughlaq dynasty 

(d) land revenue systems during 

Akbar’s reign 

 

12. Consider the following statements 

regarding the administration under 

Chola Empire : 

1. The Ur and Sabha were village 

assemblies mentioned under 

Chola inscriptions. 

2. The village affairs were managed 

by executive committees which 

were open for all. 

3. The Dravida style Brihadisvara 

Temple at Tanjore was built by 

Rajendra I. 

Which of the statements given above 

is/are correct ? 

(a) Only 1 

(b) Only 1 and 3 

(c) Only 2 

(d) Only 1, 2 and 3 

11. Gkos d/ wZXekbhB fJfsjk; d/ ;zpzX ftu 

‘dj;kbk’, ‘pNkJh’ ns/ ‘B;ae’ fe; Bkb 

;zpzfXs jB 

(a) ;w[zdor[gs d[nkok x'fVnK d/ T[Zs/ 

;akjh fB;akBK dh brtkJh  

(b) Bt/A r[gsk oki/ d/ oki fsbe ;w/A dk 

eow eKv  

(c) s[rbe tz;a d/ ;w/A d"okB iwhB d/ 

brkB dk gqpzX  

(d) nepo d/ ;w/A d"okB iawhB d/ brkB 

dk gqpzX  

 

12. u'bk oki nXhB gq;ak;B Bkb ;zpzfXs fBwB 

eEBK B{z ftuko' L 

1. To ns/ ;Gk, u'bk y[dtkJhnK ftu 

fiaeo ehs/ fgzv dk fJeZm ;B .  

2. Ffgzv d/ wkwb/ ekoiekoh ew/NhnK, 

i' ;G bJh y[bhnK ;B d[nkok ;[D/ 

iKd/ ;B . 

3. okfizdo I d/ d[nkok szBi'o fty/ 

dqkftV ;?abh dk fpqjdfJ;atkok wzfdo 

pDtkfJnk frnk ;h . 

T[es ftu'A fejVk eEB ;jh j?$jB < 

(a) e/tb 1 

(b) e/tb 1 ns/ 3 

(c) e/tb 2 

(d) e/tb 1, 2 ns/ 3 
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13. Which of the following statements 

is/are not correct about the 

Vijayanagara kingdom ? 

1. The Vijayanagara kings 

maintained complete separation 

between religion and 

administration. 

2. Land revenue was the main 

source of income. 

3. Administration of the villages 

was carried out through 

hereditary officers. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 1 

(c) Only 2 and 3 

(d) 1, 2 and 3 

14. With reference to the  

Udaigiri-Khandagiri caves, which of 

the following statements is/are  

correct ? 

1. They are examples of the rock-cut 

cave tradition. 

2. These caves have inscriptions of 

Kharavela kings. 

3. The caves were primarily meant 

for Buddhist monks. 

Select the correct answer using the 

code given below : 

(a) Only 2 

(b) Only 1 and 3 

(c) Only 1 and 2 

(d) 1, 2 and 3 

13. fti?Bro ;bsBs pko/ fBwB fejVk eEB 

;jh BjhA j?$jB < 

1. fti?Bro d/ okfinK B/ Xow ns/ 

gq;ak;B dfofwnkB g{oB nbfjdrh 

B{z poeoko oZfynk . 

2. nkwdB dk w[Zy ;q's iawhB dk brkB 

;h . 

3. fgzv dk gq;ak;B ftok;sh nc;oK 

d[nkok ubkfJnk iKdk ;h . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 1 ns/ 2 

(b) e/tb 1 

(c) e/tb 2 ns/ 3 

(d) 1, 2 ns/ 3 

14. T[d?froh^yzvkfroh r[cktK pko/ fBwB eEBK 

ftu'A fejVk ;jh j?$jB < 

1. fJj gZEo eZN r[ck gozgok dhnK 

T[dkjoBK jB . 

2. fJj r[cktK ykot/bk okfinK dhnK 

y[dkJhnK dhnK T[dkjoBK jB . 

3. fJj r[cktK yk; eoe/ p'Xh ;zsK d/ 

bJh ;B . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 2 

(b) e/tb 1 ns/ 3 

(c) e/tb 1 ns/ 2 

(d) 1, 2 ns/ 3 
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15. What important influence did John 

Locke, Baron de Montesquieu,  

Jean-Jacques Rousseau and Voltaire 

have on the United States ?   

(a) They were Europeans who came 

to help the Americans fight the 

British in the Revolution. 

(b) They were European political 

thinkers who influenced the ideas 

of American leaders at the time 

of the Revolution. 

(c) They were Europeans whose 

inventions sparked the American 

Industrial Revolution around 

1800. 

(d) They were European 

philosophers who met with 

Thomas Jefferson to draft the 

Declaration of Independence. 

16. From July 17 to August 2, 1945, 

leaders from the Allied nations met at 

the Potsdam Conference to decide the 

sanctions to be put in place against the 

recently defeated Nazi Germany. 

During the conference, the decision 

was made that certain industries in 

Germany would be 

(a) brought back to their pre-World 

War I levels. 

(b) governed by the forces occupying 

the country. 

(c) disabled in order to destroy 

potential for war. 

(d) revitalized because the war had 

damaged them. 

15. i'jB b'e, p?oZB d/ w"BN/;feT{, ihB ike{; 
o{;' ns/ t'bN/no dk :{BkfJNv ;N/N; s/ 
fejVk wjZst;akbh gqGkt ;h < 

(a) fJj T[j :{ogh ;B i' eqKsh ftu 
nzro/iaK fto[ZX nwohehnK dh 
;jkfJsk bJh nkJ/ ;B . 

(b) fJj T[j :{ogh okiBhfse fuzse ;B 
fiBQK B/ eqKsh d/ ;w/A nwoheh B/sktK 
d/ ftukoK B{z gqGkfts ehsk . 

(c) fJj T[j :{ogh ;B fiBQK dhnK y'iK 
B/ 1800 d/ nk;gk; nwoheh 
T[d:'fre eqKsh B{z fuzrkoh fdZsh . 

(d) fJj T[j :{ogh dko;fBe ;B i' 
niakdh d/ n?bkBBkw/ d/ yoV/ B{z 
fsnko eoB bJh Ekw; i?co;ZB B{z 
fwb/ . 

16. ;fj:'rh ok;aNoK d/ B/sk 17 i[bkJh s'A  
2 nr;s 1945 sZe g'N;vkw ekBcoz; 
ftu j[D/ jko/ Bkiah iowBh s/ o'eK brkT[D 
d/ c?;b/ ;zpzXh  fwb/ . ekBcoz; d"okB e[M 
fB;fus iowB T[d:'rK ;zpzXh fJj c?;bk 
fbnk frnk . 

(a) e[M fB;afus T[d:'r g{ot^ft;at 
:[ZX I d/ gZXo s/ fbnKd/ ikDr// . 

(b) e[M fB;afus T[d:'r T[Z/s/ d/;a ftu 
ekpia skesK d[nkok oki ehsk 
ikt/rk . 

(c) :[ZX dh ;zGktBk B{z ysw eoB bJh 
e[M fB;afus T[d:'rK B{z n:'r ehsk 
ikt/rk . 

(d) :[ZX Bkb j'J/ B[e;kB ekoB e[M 
fB;afus T[d:'rK dk d[pkok 
;aesheoB ehsk ikt/rk . 
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17. Match the following : 

 List I 

(Personalities) 

 List II 

(Misls) 

A. Jai Singh I. Nishanwalia 

B. Hira Singh II. Kanhaya 

C. Dasaundha Singh III. Nakkai 

D. Naud Singh IV. Sukerchakia 

 A  B  C D 

(a) II III I IV 

(b) I  II III IV 

(c) IV III II I 

(d) II I IV III 

18. Maharaja Ranjit Singh gave grants to 

the following religious places : 

(a) Harmandir Sahib, Amritsar 

(b) Sachkhand Huzoor Sahib, 

Nanded 

(c) Vishvanath Temple, Benaras 

(d) All of the above 

19. Consider the following statements and 

choose the correct one(s). 

1. As per 2011 census, the percentage 

of agricultural labourers constitute 

more than 30% of  total workers in 

the State of Punjab. 

2. In 2019, Punjab had nearly  

25 lakh hectares under Basmati 

which is less water consuming than 

other varieties of paddy. 

Select the correct answer using the 

code given below : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

17. fBwB B{z fwbkT[ L 

 
;{uh I 
(;ya;hnsK)  

;{uh II 
(fw;bK) 

A. i? f;zx I. fB;akBtkbhnk 

B. jhok f;zx II. eBjZJhnk 

C. d;"AXk f;zx III. BZeJh 

D. B"X f;zx IV. P[eouZehnk 

 A B C D 

(a) II III I IV 

(b) I II III IV 

(c) IV III II I 

(d) II I IV III  

18. wjkokik oDihs f;zx B/ fBwB Xkofwe 
;EkBK B{z rqKNK fdZshnK L 

(a) jfowzfdo ;kfjp, nzfwqs;o 

(b) ;uyzv jI{o ;kfjp, BKd/V 

(c) ft;atBkE wzfdo, pBko; 

(d) T[es ;ko/ 

19. fBwB eEBK B{z ftuko' ns/ ;jh B{z u[D' L 

1. 2011 dh wodwP[wkoh nB[;ko, 
y/shpkVh wid{oK dh oki d/ e[b ekfwnK 
ftu'A 30% s'A tZX gqsh;assk j? . 

2. 2019 ftu gzikp ftu 25 bZy j?eN/no 
pk;wsh dh fpikJh j'Jh fi;dh M'B/ 
dhnK d{;ohnK fe;wK Bkb'A gkDh dh 
ygs xZN j? . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 
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20. Match the following pairs : 

 State  Dams and 

Reservoirs 

1. Madhya 

Pradesh 

— Sriram Sagar 

Reservoir 

2. Andhra 

Pradesh 

— Bargi Dam 

3. Tamil Nadu — Sholayar 

Reservoir 

Which of the pairs given above are 

correctly matched ? 

(a) Only 1 

(b) Only 2 

(c) Only 3 

(d) 1, 2 and 3 

21. Consider the following statements 

about Thal Ghat : 

1. It is also called Kasara Ghat. 

2. It is located in Maikal Hills. 

3. Bhusawal-Kalyan railway line 

traverses through it. 

Which of the statements given above 

are correct ? 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) 1, 2 and 3 

22. Which among the following is a 

Glaciatic Wetland ? 

(a) Nilnag in Kashmir 

(b) Chandertal in Himachal Pradesh 

(c) Rudrasagar in Tripura 

(d) Loktak in Manipur 

20. fBwB i[ZNK B{z ftuko' L 

 oki  
v?w ns/ 
foiaot/noi 

1. wZX gqd/; — 

 

;qhokw ;kro 
foiaot/no 

2. nKXok gqd/;a — pkorh v?w 

3. skfwbBkv{ — 

 

P"fbnko 
foiaot/no 

T[es i[ZNK ftu'A fejVk ;jh fwbkD j? < 

(a) e/tb 1 

(b) e/tb 2 

(c) e/tb 3 

(d) 1, 2 ns/ 3 

21. Ekb xkN pko/ fBwB eEBK B{z ftuko' L 

1. fJ; B{z e;kok xkN th fejk iKdk  
j? .  

2. fJj w?ekb gjkVK ftu ;fEZs j? . 

3. p[;ktkb^efbnkD o/bt/ bkfJB fJ; 
d/ ftu'Adh bzxdh j? . 

T[go nzfes eEBK ftu'A fejVk ;jh j? < 

(a) e/tb 1 ns/ 2 

(b) e/tb 2 ns/ 3 

(c) e/tb 1 ns/ 3 

(d) 1, 2 ns/ 3 

22. fJzBK ftu'A fejVk rb/;ahJ/Ne t?NZb?Av 
(Glaciatic Wetland)  j? < 

(a) e;awho ftu BhbBkr 

(b) fjwkub gqd/;a ftu uzdosb 

(c) fsqg[ok ftu o[dq;kro 

(d) wBhg[o ftu b'esZe 
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23. Choose the correct statement(s) : 

Statement I : 

 Wild water buffalo is majorly 

found in North-Eastern and 

Central India. 

Statement II : 

 The Indian landscape is home to 

more than 85% of the Wild water 

buffalo population. 

Choose the correct option : 

(a) Only I 

(b) Only II 

(c) Both I and II 

(d) Neither I nor II 

24. Choose the correct statement(s) : 

Statement I : 

 Corals are an endangered marine 

species and protected under 

Schedule I of Wildlife Protection 

Act, 1972. 

Statement II : 

 Rhizangiidae, Caryophylliidae 

and Dendrophylliidae are the 

names of Coral families, recently 

in news as the Maharashtra 

government gave permission to 

translocate some coral colonies in 

order to build a coastal road to 

ease traffic congestion. 

Choose the correct option : 

(a) Only I 

(b) Only II 

(c) Both I and II 

(d) Neither I nor II 

23. ;jh eEB B{z u[D' L 

 eEB I : 
tkfJbv tkNo p[c?b' (gkDh dh izrbh 
p[c?b') fiankdkso T[so-g{oph ns/ 
e/Adoh Gkos ftu fwbdh j? . 

 eEB II : 
Gkosh G{fdq;a ;z;ko dh 85% s'A tZX 
tkfJbv tkNo p[c?b' (gkDh dh izrbh 
p[c?b') dh iB;zfynk dk xo j? . 

;jh ftebg u[D' L 
(a) e/tb I 
(b) e/tb II 
(c) I ns/ II d't/A 
(d) Bk I ns/ Bk II 

24. ;jh eEB B{z u[D' L 

 eEB I : 
e'ob yso/ ftu nkJhnK ;w[zdoh 
gqikshnK jB ns/ fJj tkfJbv bkfJc 
gq'N?e;aB n?eN, 1972 dh nB[;{uh I 
nXhB ;[oZfyns jB . 

 eEB II : 
foiaBrhv/n, e?ohUckfJbhv/n ns/ 
v/Avo'ckfJbhv/n, e'ob M[zvK d/ BK jB i' 
jkb jh ftu  wjKok;aNo ;oeko d/ 
No?fce d/ iwxN B{z xNkT[D bJh 
sZNtosh ;Ve d/ ftek; bJh e'ob 
p;shnK B{z d{;oh EK s/ t;kT[D dh fdZsh 
nkfrnk ekoB yapoK ftu ;B . 

;jh ftebg u[D' L 
(a) e/tb 1 
(b) e/tb II 
(c) I ns/ II d't/A   
(d) Bk I ns/ Bk II 
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25. The COVID-19 pandemic has exposed 

the vulnerability and plight of sex 

workers across the world. 

Which among the following statements 

are true about the recent advisory 

related to sex workers issued by  

NHRC (National Human Rights 

Commission) ? 

Statement I : 

 NHRC advised to change the 

current statutory status of sex 

workers from ‘informal workers’ 

to ‘Women at work’. 

Statement II : 

 The advisory says that such 

workers may be provided benefits 

on humanitarian grounds that 

are entitled to informal workers. 

Choose the correct option : 

(a) Only I 

(b) Only II 

(c) Both I and II 

(d) Neither I nor II 

26. Choose the incorrect statements : 

1. The Mediterranean lands account 

for more than half of the world’s 

exports of citrus fruits. 

2. The Olive tree, native to the 

Mediterranean region is a very 

soil sensitive tree and thrives 

only in well drained earth. 

3. France leads the world trade in 

fresh grapes with more than 90% 

share. 

4. Cork Oaks are typical species of 

Mediterranean Evergreen forests. 

Choose from the code given below : 

(a) Only 2 

(b) Only 1 and 2 

(c) Only 2 and 3 

(d) 1, 2, 3 and 4 

25. e'ftv^19 wjKwkoh B/ ;z;ko ftu ;?e; 
toeoK dh ewi'o ;fEsh B{z ;kjwD/ 
fbnKdk . 

 ok;aNoh wkBth nfXeko efw;aB 
(n?BZHn?uZHnkoH;hH) d[nkok ;?e; toeoK 
pkps ikoh ;bkj ;{uh pko/ fBwB ftu'A 
fejV/ eEB ;jh jB < 

 eEB I : 
n?BZHn?uZHnkoH;hH B/ ;?e; toeoK d/ 
ni'e/ ekB{Bh o[sp/ dk ‘r?o^o;wh 
toeoK’ s'A ‘ezw^ekiah’ wfjbktK ftu 
gfotosB dh ;bkj fdZsh j? . 

 eEB II : 
;bkjekoh efjzdh j? fe fJzBQK toeoK 
B{z wkBtsk d/ nkXko s/ T[jBK bkGK B{z 
w[jZJhnK eotkfJnk ik ;edk j? i' 
r?oo;wh ekw/ b?D :'r jB . 

;jh ftebg u[D' L 
(a) e/tb 1 
(b) e/tb II 
(c) I ns/ II d't/A  
(d) Bk I ns/ Bk II 

26. rbs eEBK B{z u[D' L 
1. w/vhNo/BhnB iawhBK f;No; (yZN/) 

cabK dk ;z;ko ftu j[zdk nZX s'A tZX 
fBo:ks eod/ jB . 

2. Ufbt doyas, w/vhNo/BhnB y/so dk 
w{b pf;zadk, fwZNh ;zt/dB;ahb doyas 
j? ns/ e/tb g{oB f;zaih fwZNh ftu 
;aesh;akbh j[zdk j? . 

3. skia/ nzr{oK d/ ft;at tgko ftu 90% 
s'A tZX fjZ;/dkoh Bkb coK; ;G s'A 
w'joh j? . 

4. e"oe Ue w?vhNo/BhnB ;dkpjko 
tDK dh tf;a;N gqiksh j? .  

fBwB e'vK B{z u[D' L 
(a) e/tb 2 
(b) e/tb 1 ns/ 2 
(c) e/tb 2 ns/ 3 
(d) 1, 2, 3 ns/ 4 
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27. Choose the correct statements : 

1. The gentle slope of continental 

shelves of Grand Banks of 

Newfoundland is one of the 

reasons for it to emerge among 

the largest fishing grounds of the 

world. 

2. Both pelagic and demersal fish 

are caught commercially here. 

3. Cod is the chief fish caught in the 

Grand Banks. 

4. St. John’s, Halifax and Yarmouth 

are chief ports of Newfoundland 

from where the fish is exported. 

Choose the correct option : 

(a) Only 1 

(b) Only 1 and 3 

(c) Only 1, 2 and 3 

(d) 1, 2, 3 and 4 

28. Choose the incorrect statement : 

1. Sea of Galilee is an example of 

lava blocked lake in the Jordan 

Valley. 

2. The Tafilalet Oasis in Libya is 

surrounded by a wall to keep out 

the dust storms, locally called as 

simooms. 

Choose from the code given below : 

(a) Only 1  

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

27. ;jh eEBK B{z u[D' L 

1. fBT{ ckT{Avb?Av d/ roA?v p?Ae; dh 
ezBNhB?ABb ;a?bca dh jbeh YbkD 
fJ; d/ ft;at d/ ;G s'A tZv/ wZSh 
cVB tkb/ fJbkfenK ftu'A T[GZoB dk 
fJe ekoB j? .   

2. g?bkfie ns/ vhwo;b wZSh tgkoe 
s"o s/ fJE/ caVh iKdh j? . 

3. e"v ro?Av p?Ae; ftu cVh ikD tkbh 
w[Zy wZSh j? . 

4. fBT{ ckT{Avb?Av dhnK ;/AN i'jB’I, 
j?bhc/e; ns/ :kowkT{E w[Zy 
pzdorkjK jB fiZE'A wZShnK dk 
fBo:ks j[zdk j? . 

;jh ftebg u[D' L  

(a) e/tb 1 

(b) e/tb 1 ns/ 3 

(c) e/tb 1, 2 ns/ 3 

(d) 1, 2, 3 ns/ 4 

28. rbs eEB B{z u[D' L 

1. ;hn nkc r?bhbh i"ovB tkdh ftu 
bktk pb"ev (Lava Blocked) Mhb 
dk fJe T[dkjoB j? .  

2. fbphnk ;fEZs N?chbkb?NZ UJ/;h; 
(Oasis) fwZNh d/ s{ckBK, fiBQK B{z 
;EkBe s"o s/ f;w{w fejk iKdk j?, 
s'A puD bJh fJe dhtko Bkb 
fxfonk j'fJnk j? . 

fBwB e'vK B{z u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 
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29. Consider the following statements : 

1. The Medical Termination of 

Pregnancy (Amendment) Bill 

2020 seeks to amend The Medical 

Termination of Pregnancy Act, 

1971. 

2. The Bill sets up State level 

Medical Boards to decide if a 

pregnancy may be terminated 

after 24 weeks in case of 

substantial foetal abnormalities. 

3. The Bill specifies that survivors 

of rape, victims of incest and 

other vulnerable women like 

differently abled women and 

minors will now be able to opt for 

abortion up to 28 weeks on the 

advice of two doctors. 

Choose the correct statement(s) : 

(a) Only 1 

(b) Only 1 and 2 

(c) Only 1 and 3 

(d) Only 1, 2 and 3 

30. Consider the following statements : 

1. Odisha recently launched “Drink 

from the tap Mission-Sujal” to 

ensure the supply of quality 

drinking water to the people. 

2. Odisha achieved the target of  

100 percent household water 

supply connections in 2020. 

Choose the correct statement(s) : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

29. fBwB eEBK B{z ftuko' L  
1. dh w?vheb NowhB/;aB nkc go/rB?A;ah 

(;'X) fpb 2020, dh w?vheb 
NowhB/;aB nkc go/rB?A;ah n?eN 
1971 dh ;'X eoBk ukj[zdk j? . 

2. fJj fpb oki gZXoh w?vheb p'ov B{z 
;Ekfgs eodk j? i' Go{B B{z  
24 jcfsnK d/ pknd p[fBnkdh 
n;kXkoBktK ekoB, ysw ehsk ikt/ 
iK BjhA dk fBoDk eo/rk . 

3. fJj fpb dZ;dk j? fe tkbkseko 
dhnK T[sZoihth wfjbktK, fJB;?;ZN 
d/ ghVsK, Bkpkbr ns/ j'o ewi'ao 
tor dhnK wfjbktK j[D 28 jcfsnK 
sZe d' vkeNoK dh ;bkj s/  
roG ysw eoB dk u[DkU eo 
;eDrhnK . 

;jh eEBK B{z u[D' L 
(a) e/tb 1 
(b) e/tb 1 ns/ 2 
(c) e/tb 1 ns/ 3 
(d) e/tb 1, 2 ns/ 3 

30. fBwB eEBK B{z ftuko' L  
1. Uvh;ak B/ jkb jh ftu “N{Nh ftu'A 

ghD d/ fw;aB^;[ib” B{z b'eK bJh 
uzr/ ghD tkb/ gkDh dh ;gbkJh B{z 
:ehBh pDkT[D bJh ikoh ehsk j? . 

2. Uvh;k B/ 2020 ftu 100% gqsh;as 
xo/b{ gkDh dh ;gbkJh d/ e[B?e;aBK 
dk Nhuk gqkgs ehsk j? . 

;jh eEBK B{z u[D' L 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A 

(d) Bk 1 ns/ Bk 2 
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31. Which Article of the Constitution 

provides that it shall be the endeavor 

of every State to provide adequate 

facility for instruction in the mother 

tongue at the primary stage of 

education to children belonging to 

linguistic minority groups ? 

(a) Article 349 

(b) Article 350 

(c) Article 350 A 

(d) Article 361 A 

32. Choose the incorrect statement among 

the following : 

1. The Hausa are a primarily 

pastoral tribe of Nigeria for 

whom cattle is a symbol of 

wealth. 

2. The Bindibu of Australia are 

primitive hunters and prefer to 

stay near the source of water. 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

33. As part of ‘Vaccine Maitri’ policy which 

of the following countries became  

first recipients of the Made-in-India 

COVID-19 vaccine. 

(a) Nepal and Bhutan 

(b) Nepal and Maldives 

(c) Bhutan and Maldives 

(d) Bangladesh and Bhutan 

31. ;zftXkB dk fejVk nB[S/d w[jZJhnk eodk 

j? fe jo oki dh fJj e'f;a; j't/rh fe 

Gk;akJh xZN frDsh ;w[dkfJnK B{z w[Ybh 

nt;Ek ftu wksGk;ak ftu gVkJh 

eotkT[D bJh Y[ethnK ;[ftXktK d/t/rk . 

(a) nB[S/d 349 

(b) nB[S/d 350 

(c) nB[S/d 350 J/ 

(d) nB[S/d 361 J/ 

32. fBwB ftu'A rbs eEB u[D' L 

1. j";k (Hausa)  BkfJihohnk dk w[Zy 

s"o s/ gP{ gkbe ephbk j? i' gP{nK 

B{z XB d/ gqshe ti'A ftukodk j? .  

2. fpzdhp{ (The Bindibu) nk;No/bhnk 

d/ nfs g[oksB f;aekoh jB ns/ gkDh 

d/ ;q's d/ B/V/ ofjD B{z gfjb fdzd/  

jB . 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A 

(d) Bk 1 ns/ Bk 2 

33. ‘t?ef;B w?soh’ Bhsh nB[;ko fBwB d/;aK 

ftu'A fejV/ d/;a Gkos ftu pDh e'ftv^19 

t?ef;B d/ ;G s'A gfjb/ gqkgs eosk pD/ < 

(a) B/gkb ns/ G{NkB 

(b) B/gkb ns/ wkbdht 

(c) G{NkB ns/ wkbdht 

(d) pzrbkd/;a ns/ G{NkB 
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34. Recently again in controversy, 

Jallikattu, is the bull taming 

traditional sport of which Indian  

State ? 

(a) Tamil Nadu 

(b) Kerala 

(c) West Bengal 

(d) Karnataka 

 

35. Which among the following nations, 

owing to its steady economic growth, 

has recently graduated from the UN’s 

official list of Least Developed 

Countries (LDCs) ? 

(a) Maldives 

(b) Samoa 

(c) Palau 

(d) Vanuatu 

 

36. Which of the following is  not a foreign 

bank in India ? 

(a) Citi Bank 

(b) Standard Chartered Bank 

(c) Federal Bank 

(d) HSBC 

34. jkb jh, fttkd ftu fco fxoh ;KY 

f;XkT[D dh Gkosh y/v, ibheN{, fejV/ 

oki dh gqkuhB y/v j? < 

(a) skfwbBkv{ 

(b) e/obk 

(c) gZSwh pzrkb 

(d) eoBkNek 

35. :{Hn?BZH dh ;G s'A xZN ftef;s d/;K 

(n?bZHvhH;hH) dh ;oekoh ;{uh ftu'A fejVk 

d/;a nkgD/ ;fEo nkofEe ftek; ekoB 

pkjo T[GZo nkfJnk j? < 

(a) wkbdhtia 

(b) ;w'nk 

(c) gkbkT{ 

(d) tB{nks{ 

36. fJzBQK ftu'A fejVk Gkos ftu ftd/;ah p?Ae 

BjhA j? < 

(a) f;Nh p?Ae 

(b) ;N?Avov ukoNov p?Ae 

(c) c?vob p?Ae 

(d) n?uZHn?;ZHphH;hH 
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37. In view of a recent Supreme Court 

order, consider the following features 

of coastal regulation zones in India as 

per the CRZ Notification : 

1. CRZ-1 : Exploration and extraction 

of natural gas is permitted 

selectively. 

2. CRZ-2 : Unauthorized structures 

are allowed to be constructed in 

this zone. 

3. CRZ-4 : Fishing is permitted in this 

zone. 

Choose the correct matches : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) Only 2 

 

38. Which of the following organisms 

is/are considered as “Benthos” biotic 

community ? 

1. Starfish 

2. Beetles 

3. Oysters 

Choose the correct answer using the 

codes given below : 

(a) 1 and 2 

(b) 2 and 3 

(c) 1 and 3  

(d) None of the above  

37. jkb jh ftu j'J/ ;[gohw e'oN d/ fJe 

c?;b/ d/ nkXko s/ ;hHnkoHi?vZH nfX;{uBK 

nB[;ko Gkos ftu sNtosh o/r{b/;aB ia'B 

pko/ fBwB ft;a/;asktK B{z ftuko' L 

1. ;hHnkoHi?vZH^1 L e[dosh r?;Z dh 

u[Dt/ o{g ftu ya'i ns/ fBek; dh 

nkfrnk j? .  

2. ;hHnkoHi?vZH^2 L fJ; ia'B ftu 

nDnfXekfos ;zouBk T[;koB dh 

nkfrnk j? . 

3. ;hHnkoHi?vZH^4 L fJ; ia'B ftu 

wZShnK caVQD dh nkfrnk j? . 

;jh i'V/ u[D' L 

(a) e/tb 1 ns/ 2 

(b) e/tb 2 ns/ 3 

(c) e/tb 1 ns/ 3 

(d) e/tb 2 

38. fBwB ihtK ftu'A “p/BE';” i?fte ;w[dkfJ 

ftZu fe; B{z ;akwb wzfBnk iKdk j? < 

1. skokwZSh 

2. phNba 

3. n"J/;Noia  

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) 1 ns/ 2 

(b) 2 ns/ 3 

(c) 1 ns/ 3 

(d) T[es ftu'A e'Jh BjhA 
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39. The World Health Organization has 

declared Africa wild polio-free. The 

disease is now found only in which of 

the following countries : 

(a) Afghanistan and Pakistan 

(b) Afghanistan and Kyrgyzstan 

(c) Uzbekistan and Pakistan 

(d) Kyrgyzstan and Uzbekistan 

40. Which of the following statements are 

correct ? 

1. The DNA Technology (Use and 

Application) Regulation Bill,  

2019 provides for the regulation 

of use of DNA technology for 

establishing the identity of 

certain persons. 

2. DNA is made up of 26 pairs of 

chromosomes and provides 

instructions for building an entire 

organism and proteins. 

3. DNA is composed of two chains, 

which coil around each other to 

form a double helix carrying the 

genetic instructions used in the 

growth. 

4. Under the Bill, DNA profiling  

is allowed only in respect of 

criminal matters. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) 1, 2, 3 and 4 

39. ft;at f;js ;zrmB tb'A ncohek B{z 

tkfJbv g'bhU^w[es n?bkfDnk ik u[Zek  

j? . fJj phwkoh j[D e/tb fBwB ftu'A 

fezBQK d/;aK ftu gkJh iKdh j? L 

(a) ncrkBh;skB ns/ gkfe;skB 

(b) ncrkBh;skB ns/ feofria;skB 

(c) T[ip/fe;skB ns/ gkfe;skB 

(d) feofria;skB ns/ T[ip/fe;skB 

40. fBwB eEBK ftu'A fejVk ;jh j? < 

1. vhHn?BZHJ/H seBhe (tos'A ns/ 
ftjko) o?r{b/;aB fpb, 2019 e[M 
ftneshnK dh ;Bkys B{z ;Ekfgs 
eoB bJh vhHn?BZHJ/H seBhe dh 
tos'A dh o/r{b/;aB pko/ j? . 

2. vhHn?BZHJ/H eo'w'ia'wK d/ 26 i[ZNK dk 
pfDnk j? ns/ fJe^g{o/ iht ns/ 
gq'NhB d/ fBowkD dhnK jdkfJsK 
w[jZJhnk eodk j? .  

3. vhHn?BZHJ/H d' eVhnK dh pDso j? i' 
fJe d{;o/ Bkb fJ; soQK go[Zu/ j[zd/ 
jB fe vpb j/fbe; pDkT[Ad/ jB i' 
ftek; bJh i?B/fNe ;{uBk j[zdh j? . 

4. fpb d/ nXhB e/tb ngokfXe 
wkwfbnK ftu vhHn?BZHJ/H gq'ckfJfbzr 
dh nkfrnk j? . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 1 ns/ 2 

(b) e/tb 2 ns/ 3 

(c) e/tb 1 ns/ 3 

(d) 1, 2, 3 ns/ 4 
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41. Recently, the Union Minister of 

Commerce and Industry launched 

National GIS-enabled Land Bank 

System. Which of the following 

statements are correct about the 

system ? 

1. The platform is created to provide 

database of industrial clusters 

over South India. 

2. The information available on the 

platform includes information 

about forest, drainage, raw 

material heat maps (agriculture, 

horticulture, mineral layers) and 

multiple layers of connectivity. 

3. It will help India in achieving its 

target of 5 trillion USD economy 

in five years by providing 

transparent mechanism of land 

identification and procurement. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) 1, 2 and 3 

42. Consider the following statements : 

1. Pratheeksha is India’s first 

Marine Ambulance launched by 

Kerala Govt. 

2. It aims to save the endangered 

Indian Mackerel and Olive Ridley 

Turtles from poachers off the 

Kerala Coast. 

Choose the incorrect statement(s) : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

41. jkb jh d/ ftu, tgko ns/ T[d:'r d/ 
e/Adoh wzsoh B/ ok;aNoh ihHnkJhHn?;ZH 
fJBJ/pbv b?Av p?Ae f;;Nw (G{wh p?Ae 
gqpzX) ubkfJnk j? . fBwB ftu'A fJ; gqpzX 
pko/ fejV/ eEB ;jh jB < 
1. fJj Xoksb dZyDh Gkos d/ 

T[d:'fre M[zvK dk nzeVk nXko 
gqdkB eoB bJh pDkfJnk frnk j? .  

2. fJ; Xoksb s/ T[gbpX ;{uBk ftu 
tD, fBek;h, eZu/ wkb d/ skg Be;a/  
(y/shpkVh, pkrpkBh ns/ yfDZi 
gosK) ns/ i[VkU dhnK pj[^gosK 
dh ;{uBk ;akwb j? . 

3. fJj gkodo;ask Bkb, G{wh ;aBkys 
ns/ gqkgsh gqpzX w[jZJhnk 
eotkT[AfdnK gzi ;kbK ftu Gkos B{z  
gzi NohfbnB :{Hn?;ZHvhH nkofEesk 
pDB d/ Nhu/ B{z gqkgs eoB ftu 
;jkfJsk eo/rk .  

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 ns/ 2 
(b) e/tb 2 ns/ 3 
(c) e/tb 1 ns/ 3 
(d) 1, 2 ns/ 3 

42. fBwB eEBK B{z ftuko' L 
1. gqfse;ak, e/ob d[nkok nkozG ehsh 

rJh Gkos dh gfjbh ;w[zdoh 
n?Ap[b/A; j? .  

2. fJ; dk fB;akBk e/ob d/ sZNtosh 
fJbkfenK ftu yso/ ftZu nkJ/ 
Gkosh w?e/ob ns/ Ufbt fovb/n 
eS{nK B{z ;[oZfyns eoBk j? . 

rbs eEB u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 



Paper I ( D – 20 ) 

43. ICMR published “National Guidelines 

for Gene Therapy Product 

Development and Clinical Trials”. 

Which of the following statements are 

correct about Gene Therapy Product 

(GTP) ? 

1. It is defined as any biological 

entity, having the required gene, 

that could introduce 

modifications in the genome for 

therapeutic benefit. 

2. GTPs work by repairing, 

replacing or deactivating 

dysfunctional disease-causing 

genes to restore normal function. 

3. As per the New Drugs and 

Clinical Trial Rules (2019), the 

GTPs falls under ‘new drug’ and 

shall always be deemed as ‘new 

drug’. 

4. Thalassemia, Gaucher’s disease, 

Sickle cell anaemia and 

Haemophilia fall under the 

genetically inherited disease 

category. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1, 2 and 3 

(d) 1, 2, 3 and 4 

43. nkJhH;hHn?wHnkoH B/ “ihB Eo?gh d/ 

T[sgkd ftek; ns/ ebhfBeb NqkfJbi 

bJh ok;aNoh nrtkJh bhjK” B{z gqekf;as 

ehsk j? . ihB Eo?gh gq'veN (ihHNhHghH) 

pko/ fBwB eEBk ftu'A ;jh u[D' ? 

1. fJj fJe b'AVhd/ ihB B{z oZyfdnK 

iht ftfrnkBe j'Ad j?, i' ufes;e 

ckfJd/ bJh ihB'w ftu pdbkn 

fbnk ;edk j? .  

2. ihHNhHghH gqekoijhB phwkoh eoB 

tkb/ iahBK B{z w[ozws, spdhb iK 

fefonkjhB  eofdnK, nkw gqekoi 

B{z w[V ;[oihs eodk j? . 

3. BthB voZria ns/ ebhfBeb NqkfJb 

fB:wK, 2019 nB[;ko ihHNhHghH 

‘BthB voZr’ d/ x/o/ ftu nkT[Adk j? 

ns/ fJ; B{z jw/;ak ‘BthB voZr’ 

;wfMnk ikt/rk . 

4. E?b/;hwhnk, r"uoia phwkoh, f;eb 

;?bZ nBhwhnk ns/ j/w'fcfbnk i?fte 

nB[tzf;ae phwkoh (inherited 

disease) dh fJekJh ftu nkT[Ad/  

jB . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 1 ns/ 2 

(b) e/tb 2 ns/ 3 

(c) e/tb 1, 2 ns/ 3 

(d) 1, 2, 3 ns/ 4 



Paper I ( D – 21 ) 

44. The Prime Minister of India mentioned 

the mega plan of “One Sun, One 

World, One Grid” project in the 

Independence Day address. Which of 

the following statements are correct 

about the project ? 

1. It is a transnational electricity 

grid supplying solar power 

project. 

2. The idea of the project was first 

introduced in 2018 during the 

first assembly of International 

Solar Alliance. 

3. China was the only member 

country to resist this proposal 

during the ISA meet. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) 1, 2 and 3 

45. The Government of India has 

constituted National Council for 

Transgender Persons. Which of the 

following statements are correct about 

the Council ? 

1. The Council will be headed by the 

Union Minister of Social Justice 

and Empowerment. 

2. The Council is a statutory body 

found under Transgender 

Persons (Protection of Rights) 

Act, 2019. 

3. State level and District level 

councils for each State will be set 

up under this act to address the 

grievances of transgenders at 

grassroot level. 

Select the correct answer using the 

code given below : 

(a) Only 2 and 3 

(b) Only 1 and 2 

(c) Only 1 and 3 

(d) 1, 2 and 3 

44. Gkos d/ gqXkB wzsoh B/ nkiakdh fdt; s/ 
;zp'XB eofdnK “fJe ;{oi, fJe ft;at, 
fJe rfoZv” w?rk gq'i?eN dk fiaeo ehsk 
;h . fJ; gqki?eN pko/ fBwB fejV/ eEB 
;jh jB < 
1. fJj ;{oih T{oik gqdkB eodk gko 

ok;aNoh fpibh rfoZv gqki?eN j? .  
2. fJ; gqki?eN dk ftuko 2018 ftu 

nzsook;aNoh ;{oih ;fj:'r dh 
gfjbh fJeZsosk d"okB fbnKdk 
frnk ;h . 

3. uhB jh fJe nfijk w?Apo d/;a ;h 
fi; B/ nkJhHn?;ZHJ/H d/ fwbD d"okB 
fJ; siathi dh fto'Xsk ehsh ;h . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 ns/ 2 
(b) e/tb 2 ns/ 3 
(c) e/tb 1 ns/ 3 
(d) 1, 2 ns/ 3 

45. Gkos ;oeko B/ NoK;i?Avo ftneshnK 
bJh ok;aNoh e"Af;b rfms ehsh j? . fJ; 
e"Af;b ;zpzXh fBwB ftu'A fejV/ eEB ;jh 
jB < 
1. ;wkie fBnK ns/ nfXekosk dk 

e/Adoh wzsoh fJ; e"Af;b dh 
nfXne;ask eo/rk .  

2. e"Af;b NoK;i?Avo ftneshnK 
(nfXekoK dh ;[oZfynk) n?eN, 2019 
nXhB j'Ad ftu nkJh fJe ekB{zBh 
;zrmB j? . 

3. fJ; n?eN nXhB NoK;i?Avo 
ftneshnK dhnK ;wZf;nktK B{z 
iwhBh gZXo s/ jZb eoB bJh jo 
oki ftu oki gZXoh ns/ fibQk gZXoh 
e"f;bK ;Ekfgs ehshnK ikDrhnK . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 2 ns/ 3 
(b) e/tb 1 ns/ 2 
(c) e/tb 1 ns/ 3 
(d) 1, 2 ns/ 3 



Paper I ( D – 22 ) 

46. The Ministry of Environment, Forest 

and Climate Change recently 

published the draft Environment 

Impact Assessment (EIA) Notification, 

2020. Which of the following 

statements are correct about EIA ? 

1. It predicts the effect of a proposed 

industrial/infrastructural project 

on the environment. 

2. It prevents the proposed 

activity/project from being 

approved without proper 

oversight or taking adverse 

consequences into account. 

3. It compares various alternatives 

for a project and seeks to identify 

the one which represents the best 

combination of economic and 

environmental costs and benefits. 

4. As per the new notification, Coal 

and non-Coal mineral prospecting 

and solar photovoltaic projects do 

not need prior environmental 

clearance. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2, 3 and 4 

(c) Only 1, 2 and 3 

(d) Only 1, 2 and 4 

46. tksktoD, tD ns/ ibtk:{ gfotosB 

wzsokb: B/ tksktoD gqGkt w[ZbKeD 

(JhHnkJhHJ/H) nfX;{uBk, 2020 dk vokcN 

jkb jh ftu gqekf;as ehsk . JhHnkJhHJ/H 

d/ pko/ fBwB eEBK ftu'A fejVk ;jh j? < 

1. fJj ;[MkJ/ T[d:'fre$ 
fJBcok;Noeuob gq'i?eN d/ 

tksktoD s/ g?D tkb/ gqGktK dh g{ot 

;{uBk fdzdk j? . 

2. fJj fpBK d/fynK ns/ gqshe{b 

BshfinK B{z ftuko/ fpBK ;[MkJh 

fefonk$gq'i?eN B{z gqtkB j'D s'A o'edk 

j? . 

3. fJj gq'i?eN d/ ftfGzB ftebgK B{z 

s[bBkTA[dk j? ns/ T[; gqki?eZN dh 

;aBkys eoB dh ukjs oZydk j? i' 

fe nkofEe ns/ tksktofDe B[e;kB 

ns/ bkG d/ T[sZw i'V dh gqshfBXsk 

eodk j't/ . 

4. BthA nfX;{uBk nB[;ko e'bk ns/ 

r?o^e'bk yfDZiK dh Gkb 

(Prospecting) ns/ ;{oih c'N't'bN/e 

gq'i?eNK B{z g{oth tksktofDe wBI{oh 

dh b'V BjhA j? . 

fBwB e'vK B{z u[DfdnK ;jh T[sZo u[D' L 

(a) e/tb 1 ns/ 2 

(b) e/tb 2, 3 ns/ 4 

(c) e/tb 1, 2 ns/ 3 

(d) e/tb 1, 2 ns/ 4 



Paper I ( D – 23 ) 

47. Recently ‘Decarbonising Transport in 

India’ project was launched by NITI 

Aayog in collaboration with 

International Transport Forum (ITF). 

Identify the incorrect statement. 

(a) It aims to develop a pathway 

towards a low carbon transport 

system for India. 

(b) The project will design a  

tailor-made transport emissions 

assessment framework for India. 

(c) India, Azerbaijan, Nigeria and 

Morocco are the participants of 

the Decarbonising Transport in 

Emerging Economies (DTEE). 

(d) None of the above 

48. The United Nations Environment 

Programme and International Energy 

Agency jointly released a ‘Cooling 

Emissions and Policy Synthesis 

Report’ (CEPSR).  Which of the 

following statements is/are correct 

about the report ? 

1. It is based on assessment of 

development and climate benefits 

of efficient and climate-friendly 

cooling. 

2. It lays out actions that can be 

taken to deliver efficient and 

climate-friendly cooling for all. 

Select the correct answer using the 

code given below : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

47. Bhsh nk:'r B/ jkb jh ftu nzsook;aNoh 
tkjB c'ow (nkJhHNhHn?cZH) d/ Bkb fwb e/ 
‘vhekopBkfJfizr NoK;g'oN fJB fJzfvnk’ 
gqki?eN nkozG ehsk . rbs eEB dh 
;aBkys eo' . 
(a) fJ; dk fB;akBk Gkos ftu xZN 

ekopB tkjB gqpzX dk okj ftef;s 
eoBk j? . 

(b) fJj gqki?eN tkjBK u'A fBebd/ 
gdkoEK d/ w[ZbKeD dk xfVnk 
xVkfJnk YKuk Gkos bJh fsnko 
eo/rk . 

(c) T[ZGodhnk nkofEesktK ftu Gkos, 
niaopkfJikB, BkfJihohnk ns/ 
wZo'e', vhekop'BfJzfizr NoK;g'oN 
fJB Jhwofizr fJe'B'whia  
(vhHNhHJhHJhH) ftZu ;akwb jB . 

(d) T[es ftu'A e'Jh BjhA 

48. ;:[zes ok;aNo tksktoD gq'rokw ns/ 
nzsook;aNoh T{oik J/iz;h B/ fwb e/ 
‘e{fbzr fJfw;aBia ns/ gkfb;h f;BE/f;; 
fog'oN’ (;hHJhHghHn?wZHnkoH) ikoh ehsh 
j? . fJ; fog'oN pko/ fBwB eEBK ftu'A 
fejVk ;jh j?$jB < 

1. fJj e[;ab ns/ tksktoD nB[e{b 
e{fbzr d/ ibtk:{  bkGK ns/ ftek; 
d/ w[ZbKeD s/ nkXkfos j? .  

2. fJj ;kfonK bJh e[;ab ns/ ibtk:{ 
nB[e{b e{fbzr gqdkB eoB bJh bJ/ 
ik ;eD tkb/ ekoiK B{z do;kT[Adh  
j? . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 



Paper I ( D – 24 ) 

49. Which of the following statements are 

correct regarding Virtual Water Trade 

(VWT) ? 

1. It refers to the import and export 

of hidden water in the form of 

products such as crop products, 

textiles, machinery and livestock 

which require water for 

production. 

2. The concept was introduced by 

Tony Allan in 1993 to explain the 

import of water intensive 

products in arid and semi-arid 

regions in the Middle East and 

North Africa. 

3. The World Water Council is 

headquartered at Marseille, 

France. 

Select the correct answer using the 

code given below : 

(a) Only 1 

(b) Only 2 

(c) Only 1 and 2 

(d) 1, 2 and 3 

49. fBwB eEBK ftu'A fejVk ‘tou{nb tkNo 

No/v’ (thHvpfbT{HNhH) pko/ ;jh j? < 

1. fJj ca;bK d/ T[sgkd, eZgVk 

T[d:'r, w;ahBoh ns/ gP{nK fizBK B{z 

T[sgkdB bJh gkDh dh b'V j? d/ o{g 

ftu nDfd;d/ gkDh d/ nk:ks ns/ 

fBo:ks pko/ j? .  

2. fJj ftuko N'Bh n?bB B/ 1993 ftu 

wZX^g{oph ns/ T[sZoh ncohek d/ 

wko{ ns/ noX wko{ y/soK ftu gkDh 

dh nkt;aesk tkb/ T[sgkdK d/ 

nk:ks dh ftnkfynk bJh P[o{  

ehsk . 

3. ft;at gkDh e"Af;b dk w[Zy dcso 

wko;/b, coK; ftu j? . 

fBwB e'vK dh tos'A eod/ j'J/ ;jh T[sZo 

u[D' L 

(a) e/tb 1 

(b) e/tb 2 

(c) e/tb 1 ns/ 2 

(d) 1, 2 ns/ 3 

 



Paper I ( D – 25 ) 

50. Recently, the 15th India-European 

Union Summit was held through a 

virtual medium. Which of the following 

are correct about the summit ? 

1. ‘India-EU Strategic Partnership : 

A Roadmap to 2025’ was adopted 

to guide cooperation between 

India and the EU over the next 

five years. 

2. Adopted declarations on Resource 

Efficiency and Circular Economy. 

3. An agreement between  

India-Euratom (European Atomic 

Energy Community) on research 

and development cooperation in 

the peaceful use of nuclear energy 

was signed on the eve of the 

summit. 

4. An agreement between Europol 

and CBI signed to combat 

terrorism and organized crime. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 4 

(b) Only 1 and 3 

(c) Only 1, 2 and 3 

(d) 1, 2, 3 and 4 

50. jkb jh ftu gzdothA, Gkos^:{oghB ;zrmB 

dh p?me (Summit) tou{nb wkfXnw 

okjhA ;zgzB j'Jh . fBwB ftu'A p?me pko/ 

fejV/ eEB ;jh jB < 

1. ‘Gkos^JhH:{H oDBhfse GkJhtkbh L 

2025 sZe dk ;co’ B{z nrb/ 5 ;kbK 

bJh Gkos ns/ JhH:{H d/ ;fj:'r d/ 

wkordo;aB bJh ngDkfJnk  

frnk . 

2. ;o'sK dh e[;absk ns/ r'bkeko 

nkofEesk bJh n?bkDBkw/ ngDkJ/ 

rJ/ . 

3. p?me dh P[o{nks s'A gfjbK gowkD{ 

T{oik d/ ;aKswJh gq:'r bJh y'I ns/ 

ftek; d/ ;fj:'r dk ;wM'sk Gkos 

s/ :{okN'w (:{oghB nNkfwe T{oik 

;w[dkfJ) ftueko j'fJnk . 

4. nkszetkd ns/ ;zrfms ngokX 

fto[ZX bVQD bJh :{o'g'b ns/ 

;hHphHnkJhH ftueko ;wM'sk  

j'fJnk . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 1 ns/ 4 

(b) e/tb 1 ns/ 3 

(c) e/tb 1, 2 ns/ 3 

(d) 1, 2, 3 ns/ 4 



Paper I ( D – 26 ) 

51. The Union Cabinet recently approved 

the New Education Policy (NEP), 2020. 

Which of the following statements are 

correct about the policy ? 

1. Compulsory allocation of 4% of 

the GDP in Education sector by 

the Union Govt. 

2. Aims to bring the uncovered age 

group of 3 – 6 years under school 

curriculum. 

3. Gross enrolment ratio in Higher 

Education to be raised to 50% by 

2030. 

4. The policy envisages to set up 

Gender Inclusion Fund. 

5. The National Educational 

Technology Forum (NETF) to be 

created to provide a platform for 

the free exchange of ideas on use 

of technology to enhance 

learning. 

Select the correct answer using the 

code given below : 

(a) Only 1, 2 and 4 

(b) Only 1, 3 and 5 

(c) Only 2, 3 and 4 

(d) Only 2, 3, 4 and 5 

51. e/Adoh wzsoh gqh;ad B/ BthA f;fynk Bhsh 

(n?BZHJhHghH), 2020 B{z jkb jh ftu gqtkB 

ehsk j? . fJ; Bhsh pko/ fBwB eEBK ftu'A 

eh ;jh j? < 

1. e/Adoh ;oeko d[nkok ihHvhHghH dk 

4% f;fynk y/so bJh bkiawh 

fBoXkoB .  

2. j[D sZe nD;akwb 3 – 6 ;kb T[wo d/ 

pZfunK B{z ;e{b d/ gkmeqw ftu 

;akwb eoB dk we;d . 

3. T[u/oh f;fynk ftu ;E{b dkybk do 

B{z 2030 sZe tXk e/ 50% sZe 

fbnkT[Dk . 

4. fJj Bhsh fbzr ;zfwfbs (i?Avo 

fJBeb{iaB) czv dh ;EkgBk ebfgs 

eodh j? . 

5. ok;aNoh f;fynk seBheh c'ow 

(n?BZHJhHNhHn?cZH) dh ouBk ehsh 

ikt/rh sK i' seBhe d/ gq:'r Bkb 

rqfjB;ahbsk B{z tXkT[D d/ ftukoK B{z 

gp£Py eoB bJh fJe Xoksb gqdkB j' 

;e/ . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 1, 2 ns/ 4 

(b) e/tb 1, 3 ns/ 5 

(c) e/tb 2, 3 ns/ 4 

(d) e/tb 2, 3, 4 ns/ 5 



Paper I ( D – 27 ) 

52. Ministry of Earth Sciences (MoES) 

released a report titled ‘Assessment of 

Climate Change over the Indian 

Region’. Which of the following 

statements are true ? 

1. It is a first ever attempt to 

document and assess climate 

change in different parts of India. 

2. It highlights the observed and 

projected changes in various 

climatic dimensions over the 

Indian region, their impacts and 

various policy actions to deal with 

the regional climate change. 

3. The Indian Institute of Tropical 

Meteorology (IITM) is located at 

Coimbatore. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 

(c) Only 1 and 3 

(d) 1, 2 and 3 

52. G{ ftfrnkB wzsokb: (n?wHTHJhHn?;ZH) B/ 

‘Gkosh y/so ftu ibtk:{ gfotosB 

w[bKeD’ ;aho;e fog'oN ikoh ehsh j? . 

fJzBQK ftu'A fejVk eEB ;jh jB < 

1. fJj Gkos d/ ftfGzB GkrK ftu 

ibtk:{ gfotosB pko/ b/yD ns/ 

w[bKeD dk j[D sZe dk gfjbk :sB 

j? . 

2. fJj Gkosh y/so ftu nB/eK ibtk:{ 

gZXoK ftu d/fynK ns/ j'D tkb/ 

gfotosBK, T[BQK d/ n;o ns/ fJ; 

y/soh ibtk:{ gfotosB Bkb 

pk^t;sk nB/eK Bhshrs ekotkJhnK 

B{z  T[Gkodk j? . 

3. Gkos dh No'gheb whNo'b'ih dh 

;z;Ek (nkJhHnkJhHNhHn?wZH) 

e'fJwpN{o ftu ;Ekfgs j? . 

fBwB e'vK B{z tosfdnK mhe T[sZo u[D' L 

(a) e/tb 1 ns/ 2 

(b) e/tb 2 

(c) e/tb 1 ns/ 3 

(d) 1, 2 ns/ 3 



Paper I ( D – 28 ) 

53. The Accredited Social Health  

Activists (ASHAs), a community-based 

functionary under National Rural 

Health Mission (NRHM), have been 

supporting delivery of health care 

services to the last mile, especially 

during COVID-19. Which of the 

following are the primary duties of 

ASHAs ? 

1. It counsels women on birth 

preparedness, importance of safe 

delivery, breastfeeding and 

complementary feeding, 

immunization, contraception and 

prevention of common infections. 

2. ASHA takes steps to create 

awareness and provide 

information to the community on 

determinants of health such as 

nutrition, basic sanitation and 

hygienic practices. 

3. It works with the Village Health 

and Sanitation Committee of the 

Gram Panchayat to develop a 

comprehensive village health 

plan. 

4. ASHA provides primary medical 

care for minor ailments such as 

diarrhea, fevers, and first aid for 

minor injuries. 

Select the correct answer using the 

code given below : 

(a) Only 1, 2 and 3 

(b) Only 2, 3 and 4 

(c) Only 1, 3 and 4 

(d) 1, 2, 3 and 4 

53. ne/o/fvNv ;a';b j?bZE n?eNhftN; 
(J/Hn?;ZHn?uZHJ/Hn?;H), ok;aNoh g/Av{ f;js 
gfo:'iBk (n?BZHnkoHn?uZHn?wZH) nXhB 
;w[dkfJ nkXkfos efozd/, f;js ;zGkb 
;/tktK B{z, ft;a/; s"o s/ e'ftv^19 d"okB 
nkyaoh whb sZe gj[zukD bJh ;jkfJsk 
eod/ oj/ jB . fJzBK ftu'A fejVhnK nk;ak 
toeoK dhnK w[Zy fIzw/tkohnK jB < 

1. fJj iBw dh fsnkoh ;pzXh, 
;[oZfyns iBB dk wjZst, po?;N 
chfvzr ns/ ;fj:'rh y[oke, 
NhekeoB, roG o'eEkw ns/ nkw 
fJBc?e;aBK dh o'eEkw ;pzXh n"osK 
B{z ;bkj fdzd/ jB . 

2. nk;ak ;[u/sBk bJh ns/ ;w[dkfJ B{z 
f;js d/ ekoB fit/A fe g[;aN nkjko, 
p[fBnkdh ;tZSsk,  ;tZS gqEktK dh 
;{uBk gqdkB eoB bJh edw u[Zedh 
j? . 

3. fJj fgzv dh f;js dh ft;fsqs 
:'iBk ftef;s eoB bJh rqkw 
gzukfJs dh g?zv{ f;js ns/ ;tZSsk 
ew/Nh Bkb ezw eodh j? . 

4. nk;ak S'N/ o'rK fit/A d;s, p[yako ns/ 
S'N/ iaywK bJh w[Ybh ufeZs;k 
;jkfJsk fdzdh j? . 

fBwB e'vK dh tos'A eofdnK ;jh T[sZo 
u[D' L 

(a) e/tb 1, 2 ns/ 3 

(b) e/tb 2, 3 ns/ 4 

(c) e/tb 1, 3 ns/ 4 

(d) 1, 2, 3 ns/ 4 



Paper I ( D – 29 ) 

54. The Government of India announced 

linking of Lakshadweep Islands with 

the mainland through Optical Fibre 

Cable link. 

Which of the following statements 

is/are true ? 

 

1. The submarine optical  fibre cable 

link will connect 11 islands of 

Lakshadweep with Kochi in 

mainland India. 

 

2. The project will be executed in 

PPP mode through a joint 

venture of BSNL and RIL. 

 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

54. Gkos ;oeko B/ be;adhg iaiho/ B{z 

nkgNheb ckfJpo e/pb fbze okjhA w[Zy 

Xosh Bkb  i'VB bJh n?bkB ehsk j? . 

 fBwB ftu'A fejVk eEB ;jh j?$jB < 

 

1. be;adhg d/ 11 iaihfonK B{z, ;w[zdo 

fBZubh nkgNheb ckfJpo e/pb 

fbze, w[Zy Gkosh Xosh Bkb e'uh 

fty/ i'V/rh .  

 

2. fJj gqki?eN ghHghHghH ftXh  

ftu phHn?;ZHn?BZHn?bZH ns/ 

nkoHnkJhHn?bZH d/ ;z:[es nfGnkB 

okjhA bkr{ ehsk ikt/rk . 

 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A 

(d) Bk 1 ns/ Bk 2 
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55. India’s first gas exchange, the Indian 

Gas Exchange (IGX), was launched as 

a wholly owned subsidiary of Indian 

Energy Exchange. Which of the 

following statements are correct ? 

1. It is a digital trading platform 

that will allow buyers and sellers 

to trade both in the spot market 

and in the forward market for 

imported natural gas. 

2. It will allow trade across three 

hubs — Dahej and Hazira in 

Gujarat and Kakinada in Andhra 

Pradesh. 

3. Imported Liquified Natural Gas 

(LNG) will be regassified and sold 

to buyers through the exchange, 

removing the requirement for 

buyers and sellers to find each 

other. 

4. Only inter-governmental trade in 

domestically produced natural 

gas is allowed at the gas 

exchange. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 1 and 3 

(c) Only 1, 2 and 3 

(d) 1, 2, 3 and 4 

56. Consider the following statements : 

1. Angola and Nigeria are one of the 

largest crude oil suppliers of the 

sub-Saharan region. 

2. India and Angola signed a 

bilateral energy cooperation 

agreement under the framework 

of India-Africa Forum. 

Which among the above statements 

is/are incorrect ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

55. Gkos dh gfjbh r?;Z n?e;u/Ai, Gkosh r?;Z 
n?e;u/Ai (nkJhHihHn?eZ;H), Gkosh T{oik 
n?e;u/Ai dh g{oB ;thfeqs ;pf;voh ti'A 
P[o{ ehsh rJh . fBwB ftu'A fejVk eEB 
;jh j? < 
1. fJj fvihaNb tgkfoe Xoksb j? i' 

fteo/sktK ns/ yohddkoK B{z w"e/ dh 
wzvh ns/ nrKT{ wzvh ftu n:ks 
ehsh e[dosh r?; d/ tgko dh 
nkfrnk fdzdk j? . 

2. fJj fszB gqw[Zy e/AdoK — r[ioks 
ftu dj/I ns/ jiahok ns/ nKXok 
gqd/;a ftu ekehBkdk bJh tgko dh 
nkfrnk fdzdk j? . 

3. n:ks ehsh sob e[dosh r?; 
(n?bZHn?BZHihH) B{z w[V r?; ftZu 
spdhb ehsk ikt/rk ns/ fteo/sktK 
ns/ yohddkoK dhnK fJZe d{;o/ dh 
Gkb dhnK nktZ;aesktK B{z ysw 
eofdnK, yohddkoK B{z n?e;u/Ai 
okjhA t/u/rk . 

4. r?; n?e;u/Ai ftu yo/b{ T[sgkd 
tkbh e[dosh r?; d/ e/tb 
nzso^;oekoh tgko bJh nkfrnk  
j? . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 ns/ 2 
(b) e/tb 1 ns/ 3 
(c) e/tb 1, 2 ns/ 3 
(d) 1, 2, 3 ns/ 4 

56. fBwB eEBK B{z ftuko' L 
1. nzr'bk ns/ BkfJihohnk T[g^;jkoB 

y/so d/ ;G s'A tZv/ eZu/ s/b d/ 
gqdkBeosktK (;gbkfJoI) ftu 
nkT[Ad/ jB .  

2. Gkos ns/ nzr'bk B/ Gkos ncohek 
c'ow d/ u"yN/ nXhB d' gZyh T{oik 
;fj:'r ;wM's/ s/ j;skyao ehs/ . 

T[es eEB ftu'A fejVk eEB rbs j?$jB < 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 
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57. Recently, Pan-India Real Time Market 

in electricity was launched. Which of 

the following statements are correct 

about the market ? 

1. Real time market is an organized 

market platform enabling buyers 

and sellers to meet their energy 

requirement closer to real time 

operation. 

2. The auctions will be held 50 

times a day. 

3. It became operational on two 

platforms : Indian Energy 

Exchange (IEX) and Power 

Exchange India Limited (PXIL). 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) 1, 2 and 3 

58. National Commodity and Derivatives 

Exchange (NCDEX) announced the 

commencement of trading in the 

country’s first agriculture futures 

index called : 

(a) AGRODEX 

(b) AGRIDEX 

(c) FARMDEX 

(d) CROPDEX 

57. jkb jh fpibh ftu ;ot^Gkosh ohnb 
NkfJw wzvh ikoh ehsh rJh . fBwB eEBK 
ftu'A fejV/ eEB wzvh pko/ ;jh jB < 

1. ohnb NkfJw wzvh fJe ;zrfms wzvh 
Xoksb j? i' yohddkoK ns/ 
fteo/sktK B{z T[BQK dhnK  T{oik dhnK 
nkt;aZesktK ohnb NkfJw ekotkJh 
d/ Biadhe g{ohnK eoB dh ;jkfJsk 
eodk j? . 

2. fJe fdB ftu 50 tko fBbkwhnK 
j'fJnk eoBrhnK . 

3. fJj d' XoksbK s/ ;zukfbs j'fJnk L 
Gkosh T{oik n?e;u/Ai 
(nkJhHJhHn?e;H) ns/ Gkosh  
gkto n?e;u/Ai fbfwNv 
(ghHn?e;HnkJhHn?bZH) . 

fBwB e'vK B{z tosfdnK mhe T[sZo u[D' L 

(a) e/tb 1 ns/ 2 

(b) e/tb 2 ns/ 3 

(c) e/tb 1 ns/ 3 

(d) 1, 2 ns/ 3 

58. B?;aBb ew'fvNh ns/ v/oht/fNt n?e;u/Ai 

(n?BH;hHvhHJhHn?e;H) B/ Gkos d/ gfjb/ 

y/shpkVh nkrkwh ;{ue ftu tgko dh 

nkozGsk n?bkBh j?, fi; B{z fJj fejk iKdk 

j? L 

(a) n?ro'v?e; (AGRODEX) 

(b) n?rohv?e; (AGRIDEX) 

(c) ckowv?e; (FARMDEX) 

(d) eokgv?e; (CROPDEX) 
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59. Consider the following statements : 

1. Ezulwini consensus calls for a 

more democratic security council 

with a permanent seat to Egypt, 

Turkey and South Africa. 

2. During the recent India – AU 

Summit, Uniting for Consensus 

grouping (UfC) strongly 

supported India’s claim to a 

permanent seat in the UNSC. 

Choose the correct statement(s) : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

60. India recently announced a second 

phase of Cotton Technical Assistance 

Programme for African countries. 

Choose the correct statements among 

the following : 

1. The grouping of Mali, Benin, 

Burkina Faso and Chad is 

popularly called Cotton-4. 

2. Cotton crop is best grown 

commercially in Red and 

Lateritic soils in India. 

3. The Cotton Corporation of India 

Ltd. releases MSP for Fair 

Average Quality grade Kapas 

before the start of procurement 

season. 

(a) Only 1 

(b) Only 1 and 3 

(c) Only 2 and 3 

(d) 1, 2 and 3 

59. fBwB eEBK B{z ftuko' L 

1. fw;ao, Noeh ns/ dZyDh ncohek dh 
;dhth ;dZ;:sk d/ Bkb fJktbftBh 
;fjwsh tXhe b'eszsfoesk tkbh 
;[oZfynk e"Af;b B{z nktkia fdzdk j? .  

2. jkbh jh ftZu j'J/ Gkos^J/H:{H p?me 
(Summit) d"okB, :{BkfJfNzr cko 
eB;?A;; ro[fgzr (:{Hn?cH;hH) B/ 
Gkos d/ :{Hn?BHn?;ZH;hH ftu ;dhth 
;d;:sk d/ dknt/ B{z g[oi'o ;woEB 
fdsk . 

;jh eEB u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 

60. Gkos B/ ncohek d/ d/;aK bJh egkj d/ 
seBheh ;jkfJsk gq'rokw  d/ d{;o/ d"o dk 
j[D/ n?bkB ehsk j? . fBwB ftu'A ;jh eEB 
u[D' L 
1. wkbh, p?fBB, p[ofeBk ck;' ns/ uZv 

d/ ;w{j B{z b'efgq:sk ti'A e"NB 4 
(Cotton-4) fejk iKdk j? .  

2. Gkos ftu bkb ns/ b?NfofNe 
iawhBK ftu egkj dh c;b dh 
tgkoe s"o s/ T[sZw T[rkJh j[zdh j? . 

3. yohd dh P[o{nks s'A gfjbK e"NB 
ekog'o;aB nkc fJzvhnk fbwfNv 
tb'A c/no n";sB e[nkfbNh rq/v dh 
egkj dh n?wZHn?;ZHghH B{z ikoh ehsk 
iKdk j? . 

(a) e/tb 1 
(b) e/tb 1 ns/ 3 
(c) e/tb 2 ns/ 3 

(d) 1, 2 ns/ 3 
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61. The All India Trade Union Congress 

(AITUC), the first pan-India trade 

union recently completed 100 years. 

Who among the following contributed 

to the formation of AITUC. 

1. Lala Lajpat Rai 

2. Bal Gangadhar Tilak 

3. Joseph Baptista 

4. N.M. Joshi 

5. Diwan Chaman Lall 

Choose the correct code : 

(a) Only 1, 4 and 5 

(b) Only 1, 3 and 4 

(c) Only 1, 3, 4 and 5 

(d) 1, 2, 3, 4 and 5 

62. The International Maritime 

Organisation (IMO) has recently 

recognized Indian Regional Navigation 

Satellite System (IRNSS) as a part  

of World Wide Radio Navigation 

System (WWRNS). Choose the correct 

statement(s) among the following : 

1. India has become the fourth 

country in the world to have its 

independent navigation satellite 

system recognized by IMO. 

2. IRNSS provides both Standard 

Positioning Service (SPS) and 

Restricted Service (RS). 

3. IRNSS, like GLONASS and GPS 

is a global navigation system. 

(a) Only 1 

(b) Only 1 and 2 

(c) Only 2 and 3 

(d) Only 1, 2 and 3 

61. gfjbh ;ot Gkosh tgko :{BhnB, dh 
nkb fJzvhnk No/v :{BhnB eKro;  
(J/HnkJhHNhH:{H;hH) B/ j[D/ j[D/ 100 toQ/ 
w[ezwb ehs/ jB . J/HnkJhHNhH:{H;hH d/ 
fBowkD ftu fBwB ftu'A fe; dh d/D ;h . 
1. bkbk bkigs okJ/ 
2. pkb rzrkXo fsbe 
3. i';ca p?gfN;Nk 
4. n?BZHn?wZH i';ah 
5. dhtkB uwB bkb 

;jh e'v u[D' L 
(a) e/tb 1, 4 ns/ 5 
(b) e/tb 1, 3 ns/ 4 
(c) e/tb 1, 3, 4 ns/ 5 
(d) 1, 2, 3, 4 ns/ 5 

62. nzso^ok;aNoh w?ohNkfJw ;zrmB 
(nkJhHn?wZHUH) B/ jkb ftu jh Gkosh 
y/soh B/thr/;aB T[grqfj gqpzX 
(nkJhHnkoHn?BZHn?;ZHn?;ZH) B{z ft;ath  
o/vhU B/thr/;aB gqpzX 
(vpfbT{HvpfbT{HnkoHn?BZHn?;ZH) d/ fjZ;/ 
ti'A ;theko ehsk j? . fBwB ftu'A ;jh 
eEB u[D' L 
1. Gkos ft;at dk u"Ek d/;a pD u[Zek j? 

i' fe nkJhHn?wZHUH d[nkok ;thfeqs 
;[szso B/thr/;aB gqpzX oZydk j? . 

2. nkJhHnkoHn?BZHn?;ZHn?;ZH ;N?Avov 
g[iah;afBzr ;/tk (n?;ZHghHn?;ZH) ns/ 
fo;NfoeNv ;/tk (nkoHn?;ZH) d'tK B{z 
w[jZJhnk eodk j? . 

3. nkJhHnkoHn?BZHn?;ZHn?;ZH, rb'Bk; 
ns/ ihHghHn?;ZH tKr ft;ath B/thr/;aB 
gqpzX j? . 

(a) e/tb 1 
(b) e/tb 1 ns/ 2 
(c) e/tb 2 ns/ 3 
(d) e/tb 1, 2 ns/ 3 
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63. The Bureau of Indian Standards has 

prepared a draft standard for the 

supply of piped drinking water, named 

as “Drinking Water Supply Quality 

Management System-requirements for 

piped drinking water supply service”. 

Which of the following statements are 

the key features of the draft ? 

1. After treatment the drinking 

water should conform to Indian 

Standard (IS) 10500. 

2. Adoption of District Metering 

Area concept to control leakages. 

3. Water audit should be conducted 

on quarterly basis. 

Select the correct answer using the 

code given below : 

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) 1, 2 and 3 

64. Winter Diesel is a specialized fuel  

that was introduced by Indian Oil 

Corporation. Choose the incorrect 

statement about Winter Diesel : 

(a) It contains additives to maintain 

lower viscosity so that it can be 

used in temperatures as low as  

– 30°C. 

(b) It has lower cetane rating for 

high performance of engines. 

(c) It has low Sulphur content to 

ensure lesser deposition in 

engines. 

(d) It is highly suitable for high 

altitude and low-temperature 

regions such as Ladakh, where 

ordinary diesel can become 

unusable. 

63. fpT{o' nkc fJzvhnB ;N?Avov B/ ghD tkb/ 
gkDh dh gkfJg okjhA ;gbkJh d/ gZXo bJh 
“ghD tkb/ gkDh dh gkfJg ;gbkJh ;/tk 
bJh ghD tkb/ gkDh dh ;gbkJh dk 
e[nkbNh wB/iw?AN gqpzX” Bkwe ;N?Avov 
yoVk fsnko ehsk j? . fBwB ftu'A yoV/ 
d/ fejV/ w[Zy bZSD jB < 
1. P[XheoB T[gozs ghD tkbk gkDh 

Gkosh gZXo (nkJhHn?;ZH) 10500 d/ 
nB[o{g ukjhdk j? .  

2. gkDh dh u'oh d/ fB:zsqD bJh fibQk 
whNfozr J/ohnk d/ ftuko B{z 
ngDkT[Dk . 

3. gkDh dk b/yk fBohyD jo fswkjh s/ 
eoBk ukjhdk j? . 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 
(a) e/tb 1 ns/ 2 
(b) e/tb 2 ns/ 3 
(c) e/tb 1 ns/ 3 
(d) 1, 2 ns/ 3 

64. Gkosh nkfJb ekog'o/;aB d[nkok fbnKdk 
frnk ftzNo vhiab fJe ft;a/;feqs pkbD  
j? . ftzNo vhiab pko/ rabs eEB u[D' L 
(a) fJ; ftu xZN fug fugkgD 

(ft;e';Nh) B{z poeoko oZyD bJh 
tkX{ sZs jB sK i' fJ; B{z – 30°C 
tor/ xZN skgwkB ftu th tofsnk 
ik ;edk j? . 

(b) fJziB dh e[;absk tXkT[D bJh fJ; 
dh ;hN/B o/fNzr xZN j? . 

(c) fJ; ftu fJziB ftu xZN iwktN B{z 
:ehBh pDkT[D bJh ;bco d/ nz;a 
xZN jB . 

(d) fJj T[ukJh ns/ xZN skgwkB tkb/ 
y/soK fit/A fe bdky bJh tX/o/ ;[:'r 
j? fiE/ ;akfJd nkw vhiab tos'A:'r 
Bk oj/ . 
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65. Hydropower sector cooperation is the 

flagship area of Indo-Bhutan bilateral 

relations. Choose the correct 

statement(s) among the following with 

regard to India’s investment in the 

hydropower sector in Bhutan : 

1. The Mangdechhu  hydroelectric 

project is a run-of-river power 

plant being built with Indian 

assistance in central Bhutan. 

2. The Kholongchu project is a first 

Indo-Bhutan joint venture 

hydroelectric project to be 

implemented by Kholongchu 

Hydro Energy Limited. 

3. The Chukha HEP, Kurichhu HEP 

and Tala HEP are the 

hydroelectric projects of Bilateral 

Cooperation between India and 

Bhutan. 

(a) Only 1 

(b) Only 1 and 2 

(c) Only 1 and 3 

(d) 1, 2 and 3 

66. Consider the following statements 

regarding ‘One Nation, One Ration 

Card’ scheme. 

1. The scheme allows portability of 

food security benefits for migrant 

workers in other States. 

2. Aadhar linkage of ration cards  

of migrant workers is not 

mandatory for availing benefits 

in other States. 

Which of the above statements is/are 

correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

65. gD fpibh ;fj:'r Gkos^G{NkB d/ d' gZyh 
;zpzXK dk w[Zy y/so j? . Gkos d[nkok 
G{NkB d/ gD fpibh y/so ftZu fBt/;a pko/ 
fejV/ eEB ;jh jB L 
1. wzrv/S{ gD fpibh gqki?eN, dfonkJh 

pjkn s/ pfDnk T{oik gbKN j? i' 
e/Adoh G{NkB ftu Gkos dh ;jkfJsk 
Bkb pDkfJnk ik fojk j? .  

2. y'b'BrS{ gq'i?eN Gkos ns/ G{NkB dk 
gfjbK ;z:[es nfGnkB dk gD 
fpibh gq'i?eN j? i' y'b'BrS{ gD 
T{oik fbfwNv d[nkok bkr{ ehsk 
ikDk j? . 

3. u[Zek n?uZHJhHghH, eohS{ n?uZHJhHghH 
ns/ skbk n?uZHJhHghH Gkos ns/ 
G{NkB d/ d' gZyh ;fj:'r d/ gD 
fpibh gqki?eN jB . 

(a) e/tb 1 
(b) e/tb 1 ns/ 2 
(c) e/tb 1 ns/ 3 
(d) 1, 2 ns/ 3 

66. ‘fJe ok;aNo, fJe ok;aB ekov’ ;ehw 
;zpzXh fBwB eEBK B{z ftuko' . 
1. fJj gfo:'iBk d{;o/ okik ftu ezw 

eod/ gotk;h wiad{oK B{z c{v 
;[oZfynk bkGK d/ spkdb/ 
(go'N/fpfbNh) dh nkfrnk fdzdk j? . 

2. j'o okiK ftu bkGK B{z gqkgs eoB 
bJh gotk;h waid{oK d/ ok;aB ekovK 
dk nkXko Bkb i[VkT bkiawh BjhA  
j? . 

T[es eEBK ftu'A fejVk ;jh j?$jB < 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 
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67. Consider the following statements : 

1. A permanent bridge has been 

built on River Ravi for connecting 

Kasowal enclave in Punjab along 

the India-Pakistan border with 

the rest of the country. 

2. This 484-meter long bridge has 

been built by Border Roads 

Organisation (BRO) under the 

Project Chetak. 

Which of the above statements is/are 

correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

68. Consider the following statements 

regarding Styrene gas leakage  

from LG Polymers Plant in 

Vishakhapatnam, Andhra Pradesh : 

1. Styrene gas that is used in the 

production of polystyrene plastics 

and resins is normally stored as 

liquid in factories. 

2. Short exposure to Styrene gas 

results in irritation of mucous 

membrane and eye, 

gastrointestinal effects and 

inhalation problems and long 

term exposure to the gas causes 

damage to central nervous 

system and fatality as well. 

Which of the statements given above 

is/are correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

67. fBwB eEBK B{z ftuko' L 

1. Gkosh-gkfe;skB ;hwk d/ Bkb brdh 
gzikp dh e/;'tkb fJBeb/t B{z, pkeh 
d/;a d/ Bkb i'VB bJh okth dfonk s/ 
fJe ;dhth g[Zb pDkfJnk frnk j? .  

2. pkovo o'via nkorBkfJi/;aB 
(phHnkoHUH) d[nkok u/se gq'i?eN 
nXhB fJj 484 whNo bzpk g[Zb 
pDkfJnk frnk j? . 

T[es ftu'A fejVk eEB ;jh j?$jB < 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A 

(d) Bk 1 ns/ Bk 2 

68. ft;akykgNBw, nKXok gqd/;a d/ n?bZHihH 
g'bhwoia gbKN ftu'A ;NkJhohB r?;Z d/ 
fo;B ;zpzXh fBwB eEB ftuko' L 

1. ;NkJhohB r?;Z i' g'bh;NkJhohB 
gbk;fNe ns/ o/;ahB B{z pDkT[D bJh 
fJ;s/wkb j[zdh j? nkw s"o s/ 
c?eNohnK ftu sob ti'A ;N'o ehsh 
iKdh j? . 

2. ;NkJhohB r?; d/ E'Vfuo/ ;kjwD/ 
Bkb w[en; w?Apo?B ns/ nZyK ftu 
yakfo;, g/N dh gqDkbh d/ gqGkt, ;kj 
dhnK ;wZf;nktK ns/ bzp/ ;kjwD/ 
Bkb e/Adoh Bot; gqpzX dk B[e;kB 
ns/ ikB yso/ ftu nk iKdh j? . 

T[es eEBK ftu fejVk eEB ;jh j?$jB < 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/ 

(d) Bk 1 ns/ Bk 2 
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69. JIGYASA programme of Council of 

Scientific and Industrial Research 

(CSIR) is a/an 

(a) National Programme to provide 

Mentorship and Scholarship 

support to interested students for 

pursuing study in Basic Sciences. 

(b) Student-Scientist connect 

programme wherein students 

across the country are exposed to 

science and technology. 

(c) Innovative programme to attract 

young talent to the study of 

science at an early age and to 

build the required critical human 

resource pool for strengthening 

and expanding the Science and 

Technology system and R & D 

base. 

(d) New programme aimed to foster 

scientific research on the effects 

of yoga and meditation on 

physical and mental health in 

healthy people as well as in 

patients with disorders. 

70. Consider the following statements : 

1. ‘Ajj Aakhaan Waris Shah Nu’ 

(Today I Invoke Waris Shah) is a 

famous poem by the renowned 

Punjabi writer Amrita Pritam 

about the horrors of the partition 

of the Punjab during the 

Partition of India in 1947. 

2. The poem is addressed to the 

historic Punjabi poet ‘Waris 

Shah’ who is considered as 

‘Shakespeare of Punjab’ for his 

literary work ‘Heer Ranjha’. 

Which of the above statements is/are 

correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

69. ftfrnkfBe ns/ T[d:'fre nB[;zXkB 
goh;ad (;hHn?;ZHnkJhHnkoH) dk 
‘ifrnk;k’ gq'rokw j? . 
(a) p[fBnkdh ftfrnkBK ftu fdbu;gh 

oZyD tkb/ ftfdnkoEhnK dh gVkJh 
bJh tiahc/ ns/ okjB[wkJh dh 
;jkfJsk dk ok;aNoh gq'rokw j? . 

(b) ftfdnkoEh^ftfrnkBhnK d/ i[VkT 
dk gq'rokw fiZE/ d/;a Go ftu'A 
ftfdnkoEhnK dk ftfrnkB ns/ 
seBkb'ih Bkb ;kjwDk eotkfJnk 
iKdk j? . 

(c) w[ZYbh T[wo  ftu j'Djko B"itkBK  B{z 
ftfrnkB d/ nfXn?B bJh nkeof;as 
eoB bJh ns/ ftfrnkB ns/ 
seBheh gqpzX ns/ nkoH n?Av vhH 
nkXko B{z ;esh;akbh ns/ ft;afsqs 
eoB bJh b'VhAd/ wB[Zyh ;q'sK d/ 
fBowkD bJh fJj BthBskekoh 
gq'rokw j? . 

(d) :'rk ns/ fXnkB dk f;jswzd b'eK 
ns/ fteqw tkb/ o'rhnK d/ ;oho ns/ 
wB T[Zs/ g?Ad/ gqGktK pko/ ftfrnkBe 
y'i B{z ;zukbs eoB dk fJe BtK 
gq'rokw j? . 

70. fBwB eEBK B{z ftuko' L 
1. ‘nZi nZyK tkfo; ;akj B{z’ gzikph dh 

w;aj{o b/fyek nqzfwsk gqhsw dh 
Gkos ftZu 1947 dh tzv ;w/A j'Jh 
fGnkBesk pko/ gqf;ZX eftsk j? . 

2. fJj eftsk fJfsjk;e gzikph eth 
‘tkfo; ;akj’ B{z ;zp'fXs j? fi; B{z 
nkgDh fJfsjk;e ;kfjse feos 
‘jho oKMk’ bJh ‘gzikp dk 
;?e;aghno’ fejk iKdk j? . 

T[es ftu'A fejVk eEB ;jh j?$jB < 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A 
(d) Bk 1 ns/ Bk 2 
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71. Consider the following statements : 

1. World Bank allocates votes for 

member countries on the basis of 

the share of bank’s capital stock 

held by the member country. 

2. India currently holds more than 

5% of the voting power in the 

World Bank. 

Choose the incorrect statement(s) : 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

72. Which of the statements given below is 

correct ? 

(a) The Attorney General of India is 

entitled to all the privileges that 

are available to a Member of 

Parliament. 

(b) The Attorney General of India is 

a member of the Cabinet. 

(c) The Attorney General of India is 

appointed by the Chief Justice of 

India. 

(d) He must be a person who is  

qualified to be appointed as 

Judge of a High Court. 

73. Consider the following statements :  

1. The Sixth Schedule has conferred 

the District Councils the power to 

constitute Village Councils or 

courts for the trial of cases 

between persons belonging to 

Scheduled Tribes. 

2. The Sixth Schedule has 

recognised the power of the 

District Councils to impose 

certain specified taxes. 

Which of the statements given above 

is/are correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

71. fBwB eEBK B{z ftuko' L 
1. ft;at p?Ae w?Apo d/;aK B{z T[BQK dh 

iwKg{zih (e?ghNb ;Nke) ftu 
fjZ;/dkoh d/ nkXko s/ t'NK tzvdk  
j? .  

2. Gkos dh ft;at p?Ae ftu ;wekb 
ftu 5% s'A finkdk t'N ;eash j? . 

rbs eEB u[D' L 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A  
(d) Bk 1 ns/ Bk 2 

72. fBwB eEBK ftu'A fejVk ;jh j? < 
(a) Gkos dk nNkoBh iBob ;K;d d/ 

;dZ;: B{z fwbD tkbhnK ;kohnK 
;[ftXktK bJh gkso j? . 

(b) nNkoBh iBob wzsoh gqh;ad dk 
;dZ;: j[zdk j? . 

(c) nNkoBh iBob B{z Gkos dk uhca 
i;fN; fB:[es eodk j? . 

(d) fJj T[j ftnesh j'Dk ukjhdk j? i' 
jkJh e'oN dk iZi fB:[es j'D d/ 
:'r j't/ . 

73. fBwB eEBK B{z ftuko' L 
1. S/thA nB[;{uh fibQk e"Af;bK B{z 

nB[;{fus ephfbnK d/ b'eK d/ nkg;h 
w[edfwnK dh ;[DtkJh bJh rqkwhB 
e"Af;bK iK ndkbsK dk rmB eoB 
bJh nfXfeqs eodh j? .  

2. S/thA nB[;{uh fibQk e"Af;bK dh e[M 
u[Dt/A eo fB;afus eoB dh ;aesh B{z 
;theko eodh j? . 

T[es eEBK ftu'A fejVk ;jh j?$jB < 
(a) e/tb 1 
(b) e/tb 2 
(c) 1 ns/ 2 d't/A  
(d) Bk 1 ns/ Bk 2 
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74. Consider the following statements : 

1. Matters concerning Trade 

Unions, industrial and labour 

disputes fall within the purview 

of Concurrent list. 

2. The subject of welfare of labour 

including conditions of work, 

provident fund, workmen’s 

compensation and maternity 

benefits are included in the State 

list. 

Which of the above statements is/are 

correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

75. Consider the following statements : 

1. With respect to the ordinary Bills 

passed by the State Legislature, 

the Governor is vested with a 

discretionary power either to 

withhold his/her assent or return 

the Bill for reconsideration by the 

State Legislature. 

2. If a Bill passed by the State 

Legislature is derogatory to the 

powers of the High Court, it is 

compulsory for the Governor to 

return the Bill. 

Which of the above statements is/are 

correct ? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

74. fBwB eEBK B{z ftuko' L 

1. tgko wzvbK d/ wkwb/, T[d:'fre ns/ 
wiad{oK d/ MrfVnK d/ wkwb/ ;KMh 
;{uh d/ x/o/ ftu nkT[Ad/ jB . 

2. wiad{oK dh GbkJh, ezw d/ jkbks, 
gq'thv?AN czv, ekfwnK dk w[nktik 
ns/ iD/g/ d/ bkGK d/ ft;a/ oki ;{uh 
ftu ;akwb jB . 

T[es ftu'A fejVk eEB ;jh j?$jB < 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A  

(d) Bk 1 ns/ Bk 2 

75. fBwB eEBK B{z ftuko' L 

1. oki ftXkBekoK (Legislature) 
d[nkok gk; ehs/ ;kXkoB fpbK ;zpzXh 
okigkb e'b nkgDh ;fjwsh o'e e/ 
oZyD iK oki ftXkBekoK d[nkok fpb 
w[V ftukoB ;zpzXh fpb tkg; eoB 
dh fJyfsnkoh ;aesh w"i{d j? .   

2. i/eo oki ftXkBekoK (Legislature) 
d[nkok jkJhe'oN dhnK ;aeshnK dh 
ntwkBBk ftu fpb gk; ehsk iKdk 
j? sK okigkb bJh fJ; fpb B{z 
tkg; G/iDk bkiawh j? . 

T[es eEBK ftu'A fejVk ;jh j?$jB < 

(a) e/tb 1 

(b) e/tb 2 

(c) 1 ns/ 2 d't/A  

(d) Bk 1 ns/ Bk 2 
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76. As per the Scheduled Tribes and  

Other Traditional Forest Dwellers 

(Recognition of Forest Rights) Act, 

2006, who has the authority to initiate 

the process for determining the nature 

and extent of individual or family 

rights ? 

(a) State Tribal Department 

(b) Gram Sabha 

(c) Block Development Officer 

(d) Gram Panchayat 

77. Which of the following is not a 

provision of the Representation of the 

People Act, 1950 ? 

(a) Qualifications and 

disqualifications for membership 

of Parliament and State 

Legislatures 

(b) Allocation of seats in the House of 

the People, the State Legislative 

Assemblies and the State 

Legislative Councils 

(c) Delimitation of Parliamentary, 

Assembly Constituencies 

(d) Local authorities for purposes of 

elections to the State Legislative 

Councils 

78. Which of the following categories of 

borrowers are eligible for taking the 

benefit of Priority Sector Lending 

under the Weaker Sections Category ? 

1. Small and Marginal Farmers 

2. Self-Help Groups 

3. Beneficiaries of Differential Rate 

of Interest (DRI) scheme 

4. Distressed farmers indebted to 

non-institutional lenders 

5. Minority Communities as notified 

Select the correct answer from the 

choices below : 

(a) Only 1 and 2 

(b) Only 1, 2 and 3 

(c) Only 2, 3 and 5 

(d) 1, 2, 3, 4 and 5 

76. nB[;{fus ephb/ ns/ j'o gqkuhB tD 
t;BheK (tD nfXekoK dh ;thfeqsh) 
n?eN, 2006 nB[;ko fe; e'b ftnesh iK 
gfotko d/ nfXekoK dh gqfeosh ns/ ;hwk 
B{z fBoXkfos eoB dh gqfeqnk dk nkozG 
eoB dk nfXeko j? < 
(a) oki ephbk ftGkr 
(b) rqkw ;Gk 
(c) pbke ftek; nc;o 
(d) rqkw gzukfJs 

77. fBwB ftu'A fejVk b'eK dh gqshfBXsk 
n?eN, 1950 dk gqktXkB BjhA j? < 
(a) ;z;d ns/ oki ftXkB;GktK dh 

w?Apof;g bJh :'rsktK ns/ 
n:'rsktK 

(b) b'e ;Gk, oki ftXkB ;Gk ns/ 
gfo;ad dhnK ;hNK dk fBoXkoB 

(c) ;z;d ns/ oki ftXkB ;Gk d/ 
jbfenK dh jZd pzdh 

(d) oki ftXkB gfo;ad dhnK u'DK d/ 
T[d/;a bJh ;EkBe nfXekohrD 

78. fBwB T[Xko b?D tkfbnK dhnK fJekJhnK 
ftu'A gqkEfwe y/so d/ T[Xko (gokfJoNh 
;?eNo b?Afvzr) dh e?N/roh ftu ewia'o 
tor nXhB fejV/ gksosk oZyd/ jB < 
1. S'N/ ns/ jk;ahJ/rs fe;kB 
2. ;t?^;jkfJsk ro[Zg 
3. tZy' tyo/ ftnkido (fvco?;ahnb o/N 

nkc fJzNo?;ZN) ;ehw d/ bkGgksoh 
4. wzdjkb fe;kB i' r?o^;z;Ekrs 

T[Xko d/D tkfbnK d/ eoiakJh jB 

5. nfX;{fus xZN frDsh ;w[dkfJ 

fBwB ftebgK ftu'A ;jh T[sZo u[D' L 
(a) e/tb 1 ns/ 2 
(b) e/tb 1, 2 ns/ 3 
(c) e/tb 2, 3 ns/ 5 
(d) 1, 2, 3, 4 ns/ 5 
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79. Which out of the following sets of 

industries is not a part of the eight 

core industries in India ? 

(a) Coal, crude oil and natural gas 

(b) Steel, cement and electricity 

(c) Coal, natural gas and refinery 

products 

(d) Mining, metallurgical operations 

and pharmaceuticals 

80. Which out of the following has  

been categorised as a Domestic 

Systematically Important Bank  

(D-SIB) as per the recent report the 

RBI ? 

(a) ICICI Bank 

(b) Punjab National Bank 

(c) Axis Bank 

(d) Kotak Mahindra Bank 

81. Which among the following is incorrect 

with respect to Payment Banks and 

Small Finance Banks in India ? 

(a) Payments Banks can accept 

deposits but have to keep the 

customer balance below one lakh 

rupees, whereas there is no such 

restriction on the Small Finance 

Banks. 

(b) Payments Banks cannot give 

loans or issue credit cards 

whereas Small Finance Banks 

can. 

(c) Mobile Companies and 

Supermarket Chains owned and 

controlled by residents are 

allowed to become eligible 

promoters for Payments Banks 

but this is not true for Small 

Finance Banks. 

(d) Payments Banks cannot sell 

mutual funds, insurance and 

pension funds but Small Finance 

Banks can. 

79. fBwB T[d:'rK ftu'A fejV/ Gkos d/ nZm 
e'o (core) T[d:'rK dk fjZ;k BjhA jB < 
(a) e'bk, eZuk s/b ns/ e[dosh r?; 
(b) ;Nhb, ;hfwzN ns/ fpibh 
(c) e'bk, e[dosh r?; ns/ ohckfJBoh 

T[sgkd 
(d) wkfJfBzr, YbkJh gqfeqnktK ns/ 

dtkJhnK pDkT[D d/ T[d:'r 

80. fBwB ftu'A fe; B{z nkoHphHnkJhH dh jkb 
jh ftu nkJh fog'oN nB[;ko xo/b{ 
gqpzX;hb wjZstg{oB p?Ae  
(vhH-n?;HnkJhHphH) ti'A torhfeqs ehsk  

j? < 
(a) nkJhH;hHnkJhH;hHnkJhH p?Ae 
(b) gzikp B?;aBb p?Ae 
(c) n?ef;ia p?Ae 
(d) e'Ne wfjzdok p?Ae 

81. Gkos ftub/ ndkfJrh p?AeK ns/ nbg 
ftZsh p?AeK pko/ fBwB ftu'A eh rbs j? < 
(a) ndkfJrh p?Ae iwQK ok;ah b? ;ed/ jB 

go T[BQK B{z rkje dk pekfJnk fJe 
bZy ct\By s'A xZN oZyDk j't/rk id'A fe 
nbg ftZsh p?AeK s/ nfijh e'Jh 
gkpzdh BjhA j? . 

(b) ndkfJrh p?Ae eoik BjhA d/ ;ed/ iK 
eq/fvN ekov BjhA d/ ;ed/ id'A fe 
nbg ftZsh p?Ae d/ ;ed/ jB . 

(c) fBtk;hnK dhnK iK T[BQK d[nkok 
fB:zsfos w'pkfJb ezgBhnK ns/ tZvh 
wzvh u/BK ndkfJrh p?AeK d/ gow'No 
pDB d/ :'r jB go nbg ftZsh p?AeK 
bJh fJj ;jh BjhA j? . 

(d) ndkfJrh p?Ae fwT{ub czvK, phwk 
ns/ g?B;aB czvK B{z t/u BjhA ;ed/ 
gozs{ nbg ftZsh p?Ae t/u ;ed/  
jB . 
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82. Consider the following pairings of  

Non-Performing Assets (NPA) 

classification in India with their 

descriptions : 

1. Substandard assets : Assets 

which have remained NPAs for a 

period less than or equal to  

12 months. 

2. Doubtful assets : Assets  

which have remained in the 

substandard category for a period 

of 12 months. 

3. Loss assets : Assets which are 

considered uncollectible and of 

such little value that their 

continuance as a bankable asset 

is not warranted, although there 

may be some salvage or recovery 

value. 

Which out of the above pairings are 

correct ?  

(a) Only 1 and 2 

(b) Only 2 and 3 

(c) Only 1 and 3 

(d) 1, 2 and 3 

83. Which among the following is the 

objective of the Cheque Truncation 

System (CTS) introduced by the RBI ? 

(a) To reduce the flow of cheques in 

circulation by replacing cheques 

with digital financial 

transactions. 

(b) To discontinue the flow of 

physical cheques in the clearing 

process by transferring an 

electronic image of the cheque 

with essential MICR data. 

(c) To establish an electronic 

database that helps in the 

suspension of the circulation of 

those cheques that do not have 

the correct vital details. 

(d) To build capacity to enable 

interbank payments online and 

facilitate Corporate customer 

payments. 

82. Gkos ftu r?o^gqdo;ae J/;ZN (n?BZHghHJ/H) 
d/ fBwB i[ZNK B{z T[BQK d/ t/oftnK ;fjs  
ftuko' L 
1. nbg gZXo d/ J/;ZN L T[j J/;ZN i'  

12 wjhB/ iK T[; s'A xZN ;w/A bJh 
n?BZHghHJ/H oj/ j'D . 

2. ;zd/jg{oB J/;ZN L i' J/;ZN 12 wjhB/ 
bJh nbg gZXo tor ftu oj/ j'D . 

3. xkN/ tkb/ J/;ZN L T[j J/;ZN i' 
T[rokj[D :'r BjhA jB ns/ fJzBh xZN 
ehws d/ jB fe Go';/:'r J/;ZN d/ 
s"o s/ BjhA d/y/ ik ;ed/ Gkt/A fJzBK 
dh e[M T[rokjh ehws j' ;edh j? . 

T[es i[ZNK ftu'A fejVk ;jh j? < 

(a) e/tb 1 ns/ 2 
(b) e/tb 2 ns/ 3 
(c) e/tb 1 ns/ 3 
(d) 1, 2 ns/ 3 

83. fBwB ftu'A nkoHphHnkJhH dnkok fbnKd/ 
rJ/  u?eZ Nozee/;aB gqpzX (;hHNhHn?;ZH) dk 
T[d/;a eh j? < 
(a) u?eZK dh EK fviahNb ftZsh spkdb/ B{z 

fbnk e/ u?eZK d/ x[wkU dh ocasko B{z 
xNkT[Dk . 

(b) iao{oh fweo (MICR) t/ot/ tkb/ u?eZK 
d/ fpzp B{z ;EKBsfos eoe/ ebhno 
eoB dh gqfeqnk ftu G"fseh u?eZK d/ 
gqtkj B{z o'eDk . 

(c) fJe nfijk fJb?eNqkfBe nzeVknXko 
;Ekfgs eoBk fe fizBK u?eZk ftu 
;jh w[Zy t/ot/ BjhA jB T[BQK d/ x[wkU 
B{z ;fErs eoB ftu ;jkfJsk j'  
;e/ . 

(d) p?AeK dh nkg;h nkBbkfJB 
(fJzNop?Ae) ndkfJrhnK B{z ;[:'r 
pDkT[D bJh ;woEk dk fBowkD ns/ 
ekog'o/N rkjeK dhnK ndkfJrhnK 
dh ;[ftXk eoBk . 
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84. Which out of the following is the 

largest network of shared ATMs in 

India, run by the National Payments 

Corporation of India ? 

(a) National Financial System 

(b) National Financial Switch 

(c) National Electronic Financial 

System 

(d) National Payment System 

85. Credit Rating Agencies in India are 

regulated by which of the following 

entities ? 

(a) Ministry of Corporate Affairs 

(b) Ministry of Finance 

(c) Securities and Exchange Board of 

India (SEBI) 

(d) Reserve Bank of India 

86. Which of the following statements is 

incorrect with respect to TReDS ? 

(a) It stands for Trade Related 

Discounting System. 

(b) It is an initiative of the Reserve 

Bank of India. 

(c) Its aim is to help cash-starved 

micro, small and medium 

enterprises (MSMEs) promptly 

encash receivables. 

(d) It is an online bill discounting 

platform that enables discounting 

of invoices/bills of exchanges of 

MSME sellers against large 

corporates, including Government 

departments and PSEs through 

an auction mechanism at 

competitive market rates. 

84. fBwB ftu'A Gkos dh ok;aNoh ndkfJrh 
ekog'o/;aB d[nkok ubkfJnk iKdk Gkos dk 
;G s'A tZvk J/HNhHn?wKH dk ;KMk B?NZtoe 
fejVk j? < 
(a) ok;aNoh ftZsh gqpzX 
(b) ok;aNoh ftZsh ;ftZu 
(c) ok;aNoh fJb?eNokfBe ftZsh gqpzX 
(d) ok;aNoh ndkfJrh gqpzX 

85. Gkos ftu eoik o/fNzr J/iz;hnK fBwB 
fJekJhnK ftu'A fe; d[nkok ;zukfbs 
(regulated) jB < 
(a) T[d:'fre wkwb/ wzsokb: 
(b) ftZs wzsokb: 
(c) ;feT{oNh ns/ n?e;u/Ai p'ov nkc 

fJzvhnk (SEBI) 
(d) Gkosh Ffoiaot p?Ae 

86. NhHnkoHJhHvhHn?;ZH (TReDS) d/ ;zpzX ftu 
fBwB eEBK ftu'A fejVk rbs j? < 
(a) fJ; dk Gkt tgko fob/Nv 

fv;ekT{AfNzr gqpzX j? . 
(b) fJj Gkos d/ foiaot p?Ae dk T[gokbk 

j? . 
(c) fJ; dk fB;akBk g{zih bJh iao{oswzd 

nfs S'N/, S'N/, wZXw J/ANogokfJiia 
(n?wZHn?;ZHn?wZHJhHn?;ZH) B{z 
oh;ht/pbia  dh ibd ndkfJrh ftu 
wdd eoBk j? . 

(d) fJj fJe nkB^bkJhB fpb  
fv;ekT{fNzr Xoksb j? i' 
n?wZHn?;ZHn?wZHJhH fteo/sktK dh tZv/ 
T[d:'rK fi; ftu ;oekoh ndko/ 
;akwb jB (ghHn?;ZHJhHn?;ZH) pkps 
fpb nkc n?e;u/Ai ns/ fJzBtkfJ;K 
dh fv;ekT{fNzr  Bhbkwh okjhA 
wkofeN o/NK s/ eotkT[Adk j? . 
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87. Start-ups registered with the 

Department of Industrial Policy and 

Promotion of the Government of India 

are exempted from the payment of the 

“Angel Tax” with conditions. This tax 

refers to 

(a) Tax payable on capital raised by 

new listed start-up companies via 

issuuance of shares where the 

share price is seen in excess of 

fair market value of shares sold. 

(b) The tax that start-ups were 

supposed to pay if they receive a 

loan at a discounted rate of 

interest because of higher success 

ratio. 

(c) Tax payable on capital raised by 

unlisted companies via issuance 

of shares where the share price is 

seen in excess of fair market 

value of shares sold. 

(d) The tax that start-ups were 

supposed to pay when their 

annual income would cross the 

specified threshold as per their 

fair market valuation. 

88. ‘Usual Principal Status’, ‘Usual 

Subsidiary Status’ and ‘Usual 

Principal and Subsidiary Status’ 

approaches are used in the 

measurement of 

(a) GDP 

(b) Unemployment 

(c) Inflation 

(d) Services Sector Growth Rate 

87. Gkos ;oeko dh T[d:'r Bhsh ns/ gquko 
ftGkr Bkb ofi;No j'JhnK BthnK 
ezgBhnK (;NkoN^ng) B{z  e[M ;aosK 
nXhB “J/Aib eo” dh ndkfJrh s'A S{N  
j? . fJj eo ;ze/s eodk j? 

(a) BthnK fb;fNv ezgBhnK d[nkok 
ikoh ehs/ ;/noK Bkb fJeZmh ehsh 
ok;ah s/ g?Adk eo j? fiE/ ;a/no dh 
ehws t/u/ rJ/ ;/no dh ;jh piko{ 
ehws Bkb'A tZX d/yD B{z fwbdh j? . 

(b) i' eo ;NkoN^ngK B{z d/Dk pDdk j? 
id'A T[j tZX ekw:kph o/;a' eoe/ 
;;s/ ftnki do s/ eoiak gqkgs 
eod/ jB . 

(c) nDfb;fNv ezgBhnK d[nkok ikoh 
ehs/ ;/noK d[nkok fJeZmh ehsh ok;ah 
s/ g?Adk eo j? fiE/ ;/no dh ehws 
t/u/ rJ/ ;/no dh ;jh piko{ ehws 
Bkb'A tZX d/yD B{z fwbdh j?/ . 

(d) ;NkoN ng d[nkok d/D:'r eo id'A 
T[BQK dh ;kbkBk nkwdB wzvh d/ ;jh 
w[bKeD nB[;ko  ft;a/; fBoXkfos 
;hwk s'A bzx iKdh j? . 

88. ‘:{ktnb fgzq;hgb ;N/NZ;’, ‘:{{ktnb 
;pf;voh ;N/NZ;’ ns/ ‘:{{ktnb fgqz;hgb 

ns/ ;pf;voh ;N/NZ;’ fdq;aNhnK fe; d/ 
nKebD ftu toshnk iKdhnK jB . 

(a) ihHvhHghH 

(b) p/o[iarkoh 

(c) wfjzrkJh 

(d) ;/tktK y/so d/ tkX/ dh do 
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89. India has been constantly negotiating 

for an expansion in the trade in 

services via Mode 4 as defined under 

the General Agreement on Trade in 

Services (GATS). Consider the 

following pairings regarding different 

modes of Services under GATS of the 

WTO : 

1. Mode 1 : Cross-Border Supply of 

Services 

2. Mode 2 : Temporary cross-border 

movement of a natural person to 

consume services abroad 

3. Mode 3 : Cross-border provision 

of services via the commercial 

presence of a company in another 

country 

4. Mode 4 : Temporary cross-border 

movement of service providers 

Which of the above are correctly 

paired ? 

(a) Only 1 and 4 

(b) Only 2 and 3 

(c) Only 1, 3 and 4 

(d) All of the above 

90. Which among the following are sources 

of non-tax revenue receipts for the 

Union Government ? 

1. Disinvestment Receipts 

2. Spectrum Fees 

3. Dividends from Public Sector 

Undertakings 

4. Interest Received on Loans given 

by the Government 

Choose the correct answer from the 

choices given below : 

(a) Only 3 and 4 

(b) Only 3 

(c) Only 2, 3 and 4 

(d) All of the above 

89. Gkos w'v 4 okjhA ;/tk d/ tgko (No/v fJzB 
;oft;ia) fi; B{z ihHJ/HNhHn?;ZH okjhA 
gfoGkf;as ehsk frnk j?, d/ ft;sko bJh 
brksko ;ztkd eo fojk j?A . 
vpfbT{HNhHUH d/ ihHJ/HNhHn?;ZH nXhB 
ftfGzB ;/tktK d/ ftfGzB w'vK d/ i[ZNK B{z 
ftuko' L 
1. w'v 1 L ;/tktK dh pkovo gko 

;gbkJh 
2. w'v 2 L e[dosh ftnesh dh ftd/;a 

dhnK ;/tktK dh ygs bJh n;dhth 
pkovo gko rsh;ahbsk 

3. w'v 3 L fe;/ j'o d/; ftu ezgBh dh 
tgkoe w"i{drh okjhA ;/tktK dk 
pkovo gko gqktXkB 

4. w'v 4 L ;/tktK gqdkB eosktK dh 
pkovo gko n;dhth rsh;ahbsk 

T[es ftu'A fejVk i[ZN ;jh j? < 

(a) e/tb 1 ns/ 4 
(b) e/tb 2 ns/ 3 
(c) e/tb 1, 3 ns/ 4 
(d) T[es ;ko/ 

90. fBwB ftu'A e/Adoh ;oeko bJh r?o eo 
nkwdB gqkgsh o;hdK d/ ;q's fejV/ jB < 
1. ftfBt/;a gqkgsh o;hdK 
2. ;g?eNow ch; 
3. ;oekoh ndkfonK (PSUs) s'A gqkgs 

fvthv?Av 
4. ;oeko d[nkok fdZs/ eoia/ s/ gqkgs 

ftnki 

fBwB fdZs/ ftebgK ftu'A mhe T[sZo u[D' L 
(a) e/tb 3 ns/ 4 
(b) e/tb 3 
(c) e/tb 2, 3 ns/ 4 
(d) T[es ;ko/ 
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91. Consider the following statements with 

respect to Consumer Price Index and 

Wholesale Price Index in India : 

1. The WPI is calculated for only 

goods and CPI is calculated for 

both goods and services. 

2. The WPI is published by the 

Office of the Economic Advisor in 

the Ministry of Commerce and 

Industry while the CPI is 

published by the Central 

Statistical Office. 

3. The WPI is published on a weekly 

basis for primary articles and fuel 

and power and is published 

monthly for the rest of the items, 

whereas the CPI is released on a 

monthly basis. 

4. The WPI measures inflation in 

the initial stages of the supply 

chain whereas the CPI measures 

inflation in the later stages of the 

supply chain. 

Which among the above given 

statements are correct ? 

(a) Only 1, 2 and 3 

(b) Only 1, 3 and 4 

(c) Only 1, 2 and 4 

(d) All of the above 

91. Gkos ftu ygseko ehws ;{ue (CPI) 

ns/ j'b;/b ehws ;{ue (WPI) ;zpzXh 

fBwB eEBK B{z ftuko' L 

1. vpfb:{HghHnkJhH e/tb t;s{nK bJh 

eZfYnk$x'f;as ehsk iKdk j? ns/ 

;hHghHnkJhH t;s{ ns/ ;/tktK d'tK 

bJh eZfYnk$x'f;as iKdk j? .  

2. vpfb:{HghHnkJhH tDi ns/ T[d:'r 

wzsokb: d/ nkofEe ;bkjeko 

dcso tb'A gqekf;as ehsk iKdk j? 

id'A fe ;hHghHnkJhH e/Adoh nzeVk 

rDBk dcso (CSO) tb'A gqekf;as 

ehsk iKdk j? . 

3. vpfbT{HghHnkJhH gqw[Zy t;s{nK ns/ 

pkbD ns/ T{oik bJh jcsktoh 

nkXko s/ gqekf;as ehsk iKdk j? ns/ 

pkeh pudhnK t;sK bJh wjhBktkoh 

gqekf;as j[zdk j? id'A fe ;hHghHnkJhH 

wjhBktkoh ikoh ehsk iKdk j? . 

4. vpfb:{HghHnkJhH ;gbkJh bVh dhnK 

w[ZYbhnK nt;EktK dh wfjzrkJh B{z 

fwDdk j? id'A fe ;hHghHnkJhH 

;gbkJh eVh dhnK fgSbhnK 

nt;EktK dh wfjzrkJh B{z fwDdk  

j? . 

T[es ftu'A fejVk eEB ;jh j? < 

(a) e/tb 1, 2 ns/ 3 

(b) e/tb 1, 3 ns/ 4 

(c) e/tb 1, 2 ns/ 4 

(d) T[es ;ko/ 
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92. Commission for Agriculture Costs  
and Prices (CACP) submits its 
recommendation for MSPs of 
agricultural commodities in form of 
Price Policy Reports. 

Consider the following statements : 

1. CACP is a statutory body formed 
under Agriculture Price 
Commission Act, 1962. 

2. Currently MSP is devoid of any 
legal backing except for 
Sugarcane to some extent. 

3. Before submitting Price Policy 
Report for any crop, CACP also 
analyses demand and supply and 
the implications of MSP on 
consumers of that product along 
with the costs of production. 

Which among the following statements 
is/are incorrect ? 

(a) Only 1 

(b) Only 1 and 3 

(c) Only 1, 2 and 3 

(d) None of the above 

93. Some suggest that India needs to  

move to an escrow-based payment 

mechanism to ensure a fearless 

business environment in the country. 

Which of the following correctly 

describes an escrow account ? 

(a) A third-party bank account for 

safeguarding the buyer from the 

risk of seller defaulting on the 

quality of goods and services. 

(b) A bank account used by 

individuals/firms for routing the 

funds through tax havens for the 

purpose of tax evasion. 

(c) A third-party bank account for 

safeguarding the seller from the 

risk of the buyer defaulting on 

the payment to the seller after 

having received the goods and/or 

services. 

(d) None of the above 

92. y/shpkVh youk ns/ ehws efw;aB 
(n?rohebuo e";N ns/ gokfJf;ia 
efw;aB) (;hHJ/H;hHghH) y/shpkVh t;s{nK 
bJh n?wZHn?;ZHghH dh f;ckfo;a ehws Bhsh 
fog'oN d/ o{g ftu eodk j? . 
fBwB eEBK B{z ftuko' L 
1. ;hHJ/H;hHghH, y/shpkVh ehws  

efw;aB n?eN, 1962 sfjs fJe 
ekB{zBh ;z;Ek j? .  

2. fJ; ;w/A n?wZHn?;ZHghH e[M jZd sZe 
rzB/ B{z SZv e/ fe;/ gqeko d/ ekB{Bh 
;woEB s'A tzfus j? . 

3. fe;/ th c;b dh ehws Bhsh fog'oN 
iwQK eotkT[D s'A gfjbK, ;hHJ/H;hHghH 
T[sgkd dh bkrsk d/ Bkb Bkb 
T[sgkd dh wzr ns/ ;gbkJh ns/ 
ygseko s/ n?wZHn?;ZHghH d/ gqGktK dk 
ft;ab/;aD th eodk j? . 

fejVk eEB rabs j?$jB < 

(a) e/tb 1 
(b) e/tb 1 ns/ 3 
(c) e/tb 1, 2 ns/ 3 
(d) T[es ftu'A e'Jh th BjhA 

93. e[M B/ ;[MkfJnk j? fe d/;a ftu fBvo 
tgkoe wkj"b pDkT[D bJh J?;Zeo' 
(Escrow) nkXkfos ndkfJrh szso tZb 
tXB dh iao{os j? . fBwB ftu'A fejVk 
J?;Zeo' b/yk ;jh do;kT[dK j? < 
(a) yohddko B{z fteo/sk dk nkgDhnK 

t;s{nK ns/ ;/tktK dh r[DtZsk d/ 
tknfdnK s'A w[eoB d/ I'fyw s'A 
pukT[D bJh sh;oh fXo dk p?Ae 
nekT{AN . 

(b) ftneshrs$cowK d[nkok eo s'A 
puD bJh eo-j/tBK okjhA fbnKd/ 
g?;/ bJh tofsnk ikD tkbk yksk . 

(c) yohddko t;s{nK ns/$iK ;/tktK 
gqkgs eoB T[gozs fteo/sk B{z 
yohddko dk ndkfJrh s'A vhckbNo 
j'D d/ ia'yw s'A pukT[Adk sh;oh fXo 
dk p?Ae nekT{AN . 

(d) T[es ftu'A e'Jh th BjhA 
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94. The Mineral Laws (Amendment) Bill, 

2020 has recently been passed. 

Consider the following regarding the 

same : 

1. With the introduction of this Bill, 

companies which do not have any 

prior coal mining experience in 

India can also participate in the 

auction of coal blocks. 

2. Private companies will now be 

able to undertake coal mining for 

commercial mining purposes, 

thereby ending the captive  

end-use criteria. 

3. A composite license namely 

Prospecting Licence-Cum-Mining 

Lease has been introduced in the 

Bill. 

4. The revenue sharing model 

detailed in the Bill is based on 

recommendations of an expert 

committee headed by Injeti 

Srinivas. 

Which of the above are true ? 

(a) Only 2 and 3 

(b) Only 1 and 3 

(c) Only 1, 2 and 3 

(d) Only 2, 3 and 4 

95. Consider the following pairings of the 

names of Government initiated portals 

and the area/industry with which they 

are associated : 

1. Sambandh : MSME 

2. Prakash Portal : Coal Industry 

3. Government e-Marketplace : For 

procurement of goods by the 

Government 

4. E-Nam portal : Agriculture 

Which out of the above are correctly 

paired ? 

(a) Only 3 and 4 

(b) Only 2, 3 and 4 

(c) Only 1, 3 and 4 

(d) All of the above 

94. fwBob ekB{zB ;'X fpb, 2020 jkb jh ftu 
gk; ehsk frnk j? . fJ; pko/ fBwB B{z 
ftuko' L 
1. fJj fpb nkT[D Bkb, T[j ezgBhnK 

th fijVhnK gfjbK e'b/ dh wkfJfBzr 
;zpzXh Gkos ftu e'Jh nB[Gt BjhA 
oZydhnK e'b/ d/ pbkeK dh fBbkwh 
ftu fjZ;k b? ;eDrhnK . 

2. e?gfNt J/Av  :{I eqkfJNhohnk dk 
nzs eofdnK gqkJht/N ezgBhnK 
tgkoe wkfJfBzr d/ T[d/;a Bkb e'b/ 
dh wkfJfBzr eo ;eDrhnK . 

3. fpb ftu go';g?efNzr bkfJ;z; ew 
wkfJfBzr bhia^Bkwe fJeZmk bkfJ;z; 
fbnKdk frnk j? . 

4. fpb ftu ftq;fsqs w[Bkck ;KMk eoB 
dk Yzr fJBi/sh f;ohfBtk; dh 
nfXnZe;ask tkbh wkfjo ew/Nh 
dhnK f;cko;K s/ nkXkfos j? . 

T[es ftu'A fejVk ;jh jB < 

(a) e/tb 2 ns/ 3 
(b) e/tb 1 ns/ 3 
(c) e/tb 1, 2 ns/ 3 
(d) e/tb 2, 3 ns/ 4 

95. ;oeko d[nkok nkozG/ rJ/ XoksbK d/ BKt 
ns/ fi; y/so/T[d:'r Bkb T[j i[V/ jB, d/ 
fBwB i[ZNK B{z ftuko' L 
1. ;zpzX L n?wZHn?;ZHn?wZHJhH 
2. gqek;a Xoksb L e'bk T[d:'r 
3. ;oekoh Jh^wzvh L ;oeko d[nkok 

t;s{nK yohd eoB bJh 
4. Jh^Bkw Xoksb L y/shpkVh 
T[es ftu'A fejVk i[ZN ;jh j? < 

(a) e/tb 3 ns/ 4 
(b) e/tb 2, 3 ns/ 4 
(c) e/tb 1, 3 ns/ 4 
(d) T[es ;ko/ 



Paper I ( D – 49 ) 

96. Consider the following statements with 

respect to the Export Preparedness 

Index, 2020 : 

1. It was published by the NITI 

Aayog in partnership with the 

Institute of Competitiveness. 

2. It examines the export ecosystem 

of Indian States and Union 

Territories. 

3. Policy, Business Ecosystem, 

Export Ecosystem and Export 

Performance are the four pillars 

of the Export Preparedness 

Index. 

4. Gujarat emerged as the  

top performing State in the 

‘Coastal States’ category, followed 

by Kerala and Tamil Nadu. 

5. In the category of ‘Landlocked 

States’, Madhya Pradesh is the 

best performing State. Among 

‘Himalayan States’ and ‘City-

States’, Himachal Pradesh and 

Delhi are the top performing 

States respectively. 

Which of the above statements are 

true ? 

(a) Only 1, 2 and 3 

(b) Only 2, 4 and 5 

(c) Only 2, 3 and 4 

(d) Only 1, 4 and 5 

96. fBo:ks fsnkoh ;{ue (n?e;g'oN 

gohg/novB?;Z fJzv?e;), 2020 ;zpzXh fBwB 

eEBK B{z ftuko' L 

1. fJ; B{z Bhsh nk:'r B/ gqsh:'rsk dh 

;z;Ek (Institute of 

Competitiveness) dh GkJhtkbh 

Bkb gqekf;as ehsk ;h . 

2. fJj Gkos okiK ns/ e/Ado ;akf;s 

gqd/;aK d/ fBo:ks fJe'f;;Nw dk 

fBohyD eodk j? . 

3. Bhsh, tgko fJe'f;;Nw, fBo:ks 

fJe'f;;Nw ns/ fBo:ks gqdo;aB, 

fBo:ks dh fsnkoh d/ ;{ue d/ uko 

;szG jB . 

4. r[ioks sZNtosh e?N/roh ftu 

‘T[sfeq;aN oki’ ti'A T[Gfonk j?, T[; 

d/ fgZS/ e/obk ns/ skfwbBkv{ j? . 

5. ‘G{whrs okiK’ d/ tor ftu wZX 

gqd/;a T[sZw gqdo;aB tkbk gqd/;a j? . 

‘fjw^okiK’ ns/ ‘;afjoh^okiK’ ftu'A 

fjwkub gqd/;a ns/ fdZbh eqwtko 

T[sZw gqdo;aB tkb/ oki jB . 

T[es ftu'A fejVk ;jh j? < 

(a) e/tb 1, 2 ns/ 3 

(b) e/tb 2, 4 ns/ 5 

(c) e/tb 2, 3 ns/ 4 

(d) e/tb 1, 4 ns/ 5 
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97. According to the World Bank’s 

classification of economies into income 

groups (on the basis of GNI per capita 

using the Atlas method exchange 

rates) for the 2020 – 2021 fiscal year, 

India falls in which of the four incomes 

groups described below ? 

(a) Low Income Country 

(b) Lower-Middle Income Country 

(c) Upper-Middle Income Country 

(d) High Income Country 

 

98. Consider the following products : 

1. Phulkari 

2. Katarni Rice 

3. Sirsi Supari 

4. Chanderi 

As of now, Punjab has the 

Geographical Indicator (GI) tag for 

which of the above products ? 

(a) Only 1 

(b) Only 1 and 2 

(c) Only 1, 2 and 4 

(d) Only 1 and 3 

97. ft;at p?Ae tb'A nkofEesktK dh nkwdB 
torK ftu torheoB d/ (n?Nb; gqDkbh 
n?e;u/Ai o/NK B{z tosfdnK gqsh ftnesh 
ihHn?BHnkJhH d/ nkXko s/) nB[;ko  
2020 – 2021 ftsh ;kb bJh, fBwB 
do;kJ/ uko nkwdB torK ftu Gkos fe; 
ftu nkT[Adk j? < 

(a) xZN nkwdB d/;a (Low Income 

Country) 

(b) xZN^ftueko nkwdB d/;a  

 (Lower-Middle Income Country) 

(c) T[Zu^ftueko nkwdB d/;a  

 (Upper-Middle Income Country) 

(d) tZX nkwdB d/;a (High Income 

Country) 

98. fBwB T[sgkdK B{z ftuko' L 

1. c[bekoh 

2. eNoBh uktb 

3. f;o;h ;[gkoh 

4. uzd/oh 

j[D T[es T[sgkdK ftu'A gzikp fe; bJh 

G{r'fbe ;ze/se (ihHnkJhH) N?r oZydk j? < 

(a) e/tb 1 

(b) e/tb 1 ns/ 2 

(c) e/tb 1, 2 ns/ 4 

(d) e/tb 1 ns/ 3 
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99. Mesothelioma is a malignant tumour 

that is caused by 

1. Cadmium 

2. Arsenic 

3. Asbestos 

4. Lead 

Select the correct answer using the 

code given below : 

(a) Only 2 

(b) Only 1 and 4 

(c) Only 2 and 3 

(d) Only 3 

 

100. Three-way catalytic converter is used 

in vehicles to reduce 

1. Unburnt Hydrocarbon 

2. Carbon Monoxide 

3. Nitric Oxide 

4. Sulphur dioxide 

Select the correct answer using the 

code given below : 

(a) Only 1, 2, and 3 

(b) Only 1, 3 and 4 

(c) Only 2, 3 and 4 

(d) Only 3 and 4 

99. whia'EhbhUwk fJe c?bD tkbk fNT{wo j? 

fi; dk ekoB j? 

1. e?vwhnw 

2. nko;?fBe 

3. n?;Zp/;N'; 

4. b?vZ 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 2 

(b) e/tb 1 ns/ 4 

(c) e/tb 2 ns/ 3 

(d) e/tb 3 

100. Eqh-t/ e?NkfbNe eBtoNo tkjBK ftu fe; 

B{z xNkT[D bJh tos/ iKd/ jB . 

1. nDibh jkfJvo'ekopB 

2. ekopB w'B'nke;kJhv 

3. BkfJNfoe n"e;kJhv 

4. ;bcao vkfJn"e;kJhv 

fBwB e'vK B{z tosfdnK ;jh T[sZo u[D' L 

(a) e/tb 1, 2 ns/ 3 

(b) e/tb 1, 3 ns/ 4 

(c) e/tb 2, 3 ns/ 4 

(d) e/tb 3 ns/ 4 
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